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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
this question paper.

2. The paper is divided into five sections. All sections are
compulsory. No choices in Section III.

3. Use of simple calculator is ailowed.

4. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.
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Scction I (WUg 1)
Attempt any one question Jrom questions 1 and 2.

v gEr 1 i 2 A @ DE UH FE @iforg

1. (a) The first four moments of a distribution about the vajye
2 are 1, 2.5, 5.5 and 16 respectively. Calculate the first
four moments about mean and comment on the nature

of the distribution.

(b) A manufacturer of T.V. tubes has 2 types of tubes A
and B with respective mean lifetimes 1495 hours and
1875 hours. Standard deviation of lifetimes are for 280
hours for tube A and 310 hours for tube B. Which tube
has (i) greater absolute dispersion of lifetimes, and (ii)

greater relative dispersion of lifetimes ? (7,3)
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2. (a) Following are data of daily carnings (in Rs.) of employees

i a company :

Eamings : 5070 70-90 90-110 110-130 130-150 150-170  170-190
No. of workers : 4 8 12 20 | 6 7 9

Calculate Karl Pearson coefficient of skewness and
comment on the result.

(b) Prove that sum of squared deviations is minimum when
taken from arithmetic mean. (8,2)
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Section II (W9E 1II)
Question 3 is compulsory.

Attempt any omne question from 4 and s,

go7 3 FReE 2RI 4 ¥T 5 A @ FEH oI Ay,

2

-

The result of an investigation by an expert on a fire accidep;
in a building are summarised below :

(1) Probability (there could have been short circuit) = (.8
(1) Probability (LPG cylinder explosion) = 0.2

(i) Chance of fire accident is 30%, given a short circuit,
and

(iv) Chance of fire accident is 95%, given an LPG cylinder
explosion.

Based on the above, what do you think is the most probable
cause of fire ? Statistically justify your answer. ()
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4. (a) A box of fuses contains 20 fuses, of which 5 are
" defective. If three of the fuses are selected at random
and removed from the box in succession without
replacement, what is the probability that all the three
fuses are defective ?

(b) Given P(A) = 0.50, P(B) = 0.30 and P(AnB) = 0.15,
verify that

(i) P(A/B") = P(A)

(i) P(B/A) = P(B)

(¢) (i) The mean of a binomial distribution is 20 and
standard deviation is 4. Calculate n, p and q.

(ii) A student union believes that 30% of all students
will strongly support his demand for a gymnasium
in the college. He approaches five students at
random to ask their opinion. What is the probability

that majority of these students will strongly support
his demand ? (2,4,4)
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(@) far 2 & P(A) =050, P(B) = 0.30 3R P(ANB) = 0,15
T i R

(i) P(A/B) = P(A)

(ii) P(B/A") = P(B) |
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5. (a) A project, yields an éverage cash flow of Rs. 500 lakhs
with a standard deviation of Rs. 80 lakhs. Calculate th°

following probabilities, assuming normal distribution.

(i) Cash flow will be more than Rs. 550 lakhs.
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(i) Cash flow will be less than Rs. 440 lakhs.

(iii) Cash flow will be between Rs. 450 lakhs and
Rs. 530 lakhs.

(b) A random variable has the following probability

distribution :
Value of X (x) 0 1 P 3
P(X =x) 1/3 172 0 1/6

Find (i) Var(X)

(ii) Var (Y) where Y = 2X+8

(c) A fair coin is tossed three times. Let A denote the
event “not less than two tails occur.” Let B denote the

event “at least one of the each face occurs”.

(i) Write the elements of the sample space for each

event.

(i) Are A and B independent events ? Explain why or
why not ? (3,4,3)
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(i) Var(X)

(i) Var (Y) & Y =2X+8
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Section III (Wwg 111)

ALL questions are compulsory.

NRF §¥T sfarf 2

0. If X,... Xn coustitute a random sample from a population
with mean p, what condition must be imposed on the
constants a,,....a_ so that ,that a, X, + ... a X is an

unbiased estimator of p ? (5)

7. (2) The following are the winning scores in eight randomly

chosen master Golf Tournaments -
285, 279, 280, 288, 279, 286, 284, 279

Use these data to construct 90% confidence interval
estimate of the average winning score in the Masters.

What assumption, if any, did you make ?

(b) Distinguish between a parameter and a statistic.
Which of the following A to C are statistics and
why ?

P.T.O.
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Section IV (WUg 1V)

Question 8 is compulsory.

Attempt any one question from 9 and 10.

g7T 8 JATGS 21 97T 9 v 10 ¥ & FIE Y F IR T/

8. (i) In a sample data, if the value of X turn out to be exact
function of Y, what can you conclude about the lvalue
of the sample correlation coefficient ? Explain.

between
gression
ncluded

(ii) The value of sample correlation coefficient
variables P and Q is 0.6. If the simple linear r¢
model P =a+bQ is estimated, what can be ¢O
about the variation in P that is explained by Q?
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(ii) The value of sample correlation coefficient between

variables S and T is 0.7 If 3 is added to each value of
S. and each value of T is multiplied by 2, what is the

value of coefficient of correlation between transformed
values of S and T ? (1,2,2)
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The heights of a sample of 10 fathers and their eldest sons

are given below (to the nearest cms) :

leight of father (X): 170 167 162 163 167 166 169 171 164 165
"Cight of son (Y): 168 167 166 166 168 165 168 170 165 168

P.T.O.
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(i) Calculate the correlation coefficient

(ii) Find the regression equation Y on X

(iii) Predict the height of the son if the height of father jg

168 cms.

(iv) Calculate coefficient of determination and interprg

your result. (3,4,1,2

10 I vd o8 o8 O 3 S @ wieed 99 Rar wn i
(AR X)

G = 9 (X): 170 167 162 163 167 166 169 171 164 165

T F S9E (Y): 168 167 166 166 168 165 168 170 165 168

(i) Heav=e e & T HINT |
(i) Y R X & afowmm wieor st 7w Sifim

(i) 99 & S9E N ITW WET IR Bar 0 = 166
AR 2 |

(iv) feiee o &t o AR g so eRow & e
I |
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10. (a) Given the following information for 10 pairs of

observations :
2X =5 2 Yi=4, 3(X —-X)z =40, (¥, —-?)2 =50,
E(X -X)(¥i-¥)=32

Calculate

(1) regression equation Y on X and interpret the slope

of the equation.

(ii) coefficient of determination and interpret your

result.

(b) The covariance of two perfectly correlated variables U
and V is 96. Determine standard deviation of U and
standard deviation of V if it is known that variance of
X and Y is in the ratio of 4:9. (8,2)

(7) fe g R a2

—\2 —\2
Y X =5 YY=4, (X -X) =40, Y(¥%-Y) =50,

2 (% -X)(v,-Y)=32

P.T.O.
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Section V (WU V)

Attempt any two questions from 11, 12 and 13.
FIT 1, 12 9 13 @ @8 & @7 Ier Sifav

11. (a) “Marshall-Edgeworth price index number is a good
approximation to the Fisher’s Ideal Index Number”

Verify this statement from the following data :

' Commodity A B Con

YEAR | Price | Quantity | Price | Quantity | Price Quantity

2000 80 6 | 70 8 100 5

2010 | 120 | 5 80 5 110 6
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(b) Assume that an index number is 100 in 2003-04; it rises
3% in 2004-05; falls 1% in 2005-06; rises 2% in 2006-
07: and rises 3% again in 2007-08. The rise and fall
begin with respect to the previous year. Calculate
the index of the five years, using 2007-08 as the base

year. (5,5)
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12. Comment on the following statements

dor o

o o v‘ . . - if‘ (')’I‘ea » Ir"’,,h
(i) In general, the Laspeyre’s Price Index 1s greater he; !

i
the Paasche’s Index. |

(ii) Circular test fails for the Laspeyre’s and Paasche}‘
Price Index numbers. (5::)‘

fFfafas w9 W ool
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e 2
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13. (a) Using the following data, show that Laspeyre’s quantity
index number does not satisfy the time reversal test bu

Fisher’s quantity index does satisfy.

Commodity Base Year Current Year
Price Quantity Price Quantity ‘

A 10 60 10 30

B 20 70 40 70

C 30 80 30 60

D 40 90 20 50
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(b) Combine the two series of index numbers given below

to obtain a new series with 1990=100

Old Series New Series
Year/Base Year 1989=100 1993=100

1990 101

1991 105

1992 112

1993 126 100
1994 134 » 106
1995 99
1996 102

(6,4)

(#) == Sfwgl o1 ST aRa el dEemR w1 9% gusis
&, TG ITAHAT WG B A A8 B B i IR
Fl ] GIEF B ATEO w8 |

| 99 AR 99 e o

A 10 60 10 20
B 20 70 40 70
L= , 30 80 30 60
S D 40 90 20 <0

P.T.O.
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(%) 1990 =100 & ¥ 9 g ™
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1990 101 R
1991 105 :
1992 112
1993 126 100
1994 134 106
1995 99
1996 102
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Table A3 Standard Normal Curve Areas D)= M2Zs2)
Standard normal density curve
; Shaded area = @(7)
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(contigued)
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Table AS™ Critical Values for t Distributions ~ /! iy e
|‘ 3
| |
} Shaded arca = a
H
0 fay
a
v \ 10 08 025 01 03 A 0005
1 3.078 6314 12.706 31.821 63.657 31831 6;? ggs
2 1886 2.920 4303 6.965 9.925 22326 1%
3 1638 2353 3.182 4541 5841 10213 i
4 1533 2132 2776 3747 4.604 [ B
5 1476 2015 2571 3.365 4032 5.893 6.869
é 1.440 1,943 2447 3.143 3707 5208 5.959
7 1415 1.895 2,365 2.998 3499 4785 5.408
3 1397 1.860 2306 2.89% 3.353 4501 5041
9 1383 1.833 2262 2.821 3250 4297 4.781
10 1372 1.812. 2.228 12,764 3.169 114 4.587
1 1.363 1.796 -~ 2201 2718 3.106 4025 4437
12 1356 1.782 2.179 2681 3.055 3930 4318
13 1,350 LM 2,160 2650 3012 3.852 4221
14 1.345 1.761 - 2145 2,624 2977 3787 4,140
15 1.34] 1253 2,131 2.602 2947 3133 4073
16 1337 1.746 2.120 2583 2921 3.686 4,015
17 1333 1740 2.110 2567 2.808 3.646 3.965
18 1330 1734 2.101 2552 2878 3610 3922
19 1.328 1.729 2.093 2539 2.861 3.579 3.883
20 1.325 1725 2,086 2.528 2.845 3.552 3.8%0
21 1323 1721 2,080 2518 2831 357 3819
2 1321 1717 2,074 2.508 2819 3.505 37192
23 1319 1714 2,069 2.500 2.807 3485 3767
24 1318 L711 2.064 2492 2.797 3467 3.745
25 1.316 1.708 2,060 2485 2787 3450 3.725
%6 1315 1,706 2056 2479 2779 3435 3.707
27 1314 1.703 2,052 2413 2771 3421 3.690
a8 1313 1.701 2048 2467 2763 3408 3674
30 1.31 ; ! 2457 27150 3385
e 1309 1.694 2037 2449 2738 3,365 i:‘;‘;
3 1307 1691 2032 244] 2728 3348 €01
‘ 1.688 2028 : 3.601
3 1306 . 2 2434 2719 3333 3582
a8 1.304 1.686 2.024 2429 2712 KR} 3566
) 1303 168 2021 2423 - 2704 3307
50 1.299 1676 2009 2403 2678 3262 34%
60 1296 1611 2.000 2390 2,660 3232 3.460
20 1.289 1.658 1.980 2358 2617 3.160 3373
o 1.282 1.645 1.960 2326 2516 3.090 3291




4 . 1 / . .
[Tlns question paper contains /:;1 prl_nth pages._l ,// ﬂ/7

Your Roll No...............
Sr. No. of Question Paper @ 9282 3 GCo
/‘J‘ ‘l_“ DR A N § ] “//‘
Unique Paper Code . 12033903 Q‘;J
Q )
T . g i ’Di:% A i~ oy
Name of the Paper . Soft Skills * YIARY m)

g

G

S %/
Name of the Course : B.A. (H) Engligsh (CBCS) S,EEC
\{/, F\/ -}\‘W
\'\./’@ V “4 v
Semester IV ~ow U
Duration : 3 Hours Maximu:in Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of

this question paper.

Section A
Attempt the following (I0%x3=30 marks)

1. (a) Do you agree that soft skills are context driven skills?
Give a reasoned answer.

OR

(b) In your opinion, are humour and wit (when appropriate)

desirable in public speaking ?

2. (a) Do you think it is necessary to orient your talk in terms

of the listener’s perspective ? How does it help you?

P.T.O.
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OR

(b) Define adaptability. Why is it considered €ssentig

| as
S a
survival skill ?

tad

(2) How important is body language in an interview 9 E

Xplain
vour point of view.

OR

(b) What are the skills necessary to be a good problem
solver ? Give your opinion.

Section B

Attempt any three of the following (15x3=45 marks)
4. Why do we notice a contemporary trend insisting more on

team spirit ? Do you think a focus on individual performance
1s better? Give a reasoned answer.

5. Attempt an analysis of the body language in the three
situations given below :

(a) The executive is looking around the room while the
manager speaks.

(b) In the classroom, the student is leaning forward, looking
intently at the teacher.

(c) At a seminar, a member of the audience keeps tapping
his foot and checking the clock.
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6.

Read the passage below and answer the questions which

follow :

A mother wished to encourage her small girl’s interest in
the piano and so took her to a local concert featuring the
world famous pianist, Igor Vasilivy. In the entrance foyer
the mother met an old friend and the two stopped to talk.
The little girl was keen to see inside the hall and so
wandered off, unnoticed by her mother. The girl’s mother
became concerned when she entered the hall and could see

no sign of her daughter.

Staff was notified and an announcement was made asking
the audience to look out for the little lost girl. With the
concert due to start, the little girl had still not been found.
In preparation for the pianist’s entrance, the curtains drew
aside, to reveal the little girl sitting at the great piano,
focused in concentration, quietly picking out the notes of
Twinkle Twinkle Little Star’.

The audience’s amusement turned to curiosity when the
great Vasilivy entered on the stage, walked up to the little
girl, and said “Keep playing.”

The pianist sat down beside her, listened for a few seconds,
and whispered some more words of encouragement. He
then began quietly to play a bass accompaniment, and then
a few bars later reached around the little girl to add more
accompaniments, adding flourishes of his own. At the end
of the impromptu performance the audience applauded loudly

P.T.O.
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10.

as the world famous pianist took the little

girl back (g pe;
seat to be reunited with her mother,

(a) The little girl and the famous pianist both exhibit different

qualities, which could be counted as soft skill

8. Give
your

opinion on the qualities of enthusiasm apq
confidence which the little girl shows,

(b) Does Vasilivy emerge as a good mentor in this story ?.
Explain your viewpoint.

(c) Discuss the importance of a positive attitude while‘
working together.

Is flexibility more important than a resolute calculative

behaviour ? Which one can serve better under a particular
circumstance ? Give a reasoned answer.

e

“Professional life demands that we see obstacles as

opportunities”. Do you agree with this: statement ? Give
your opinion, illustrating it with examples.

Discuss the importance of multiple approaches while
problem solving. Elaborate with examples.

: ‘ ress
“Keep all your personal dealings pleasant, add
i ' 14 : ccihle ” Do you
complaints promptly, avoid conflict when possible.” D0

. i o voo of e % f - ': USS.
think this is an effective business strategy ? Disc

(1800) ‘
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B society fipg

expression throuph pre-historie art in India 2 Explain witn

examples,
Wwa ? yd-tfaerfos ®&a1 & Weaw 9 o
TIEF WEN & YEA HY g 7 WO % @y

HEARUI

»

In what ways did the decorative and minor art forms of

Harappa highlight the nature of the Harappan culture. Elucidate

with examples.

#1 59 a0 4 9vR R 0 e & 9y e
FIfsm |

Give a brief reflection on religious life as portrayed in the Stupa

Art and Architecture.

A FEA SN ARGEA b Wemm Q@ uififs Sied B
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Highlight the salient features of South Indian style of temple

art and architecture trom the 8th to 12th centuries.

Sl | IREA WAl % A el o e
W Vet R wen @ wgE fafredst | SR
FIfST |

- Or
(3reran)

Explain the characteristics of South Indian sculptures with special

reference to Chola bronzes.

11 ST e T ) <o i R ) et

F1 AHATZT |

[How would you explain the blending of Persian and Indian Style

in the evolution of Mughal Paintings

e foawen & fowm # et v awdta e B
Hfo ® T FHifww |

P.T.O.
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Discuss art form reflected in either Mughal 1‘01"[ or Rajasthani
palaces and havelis.

el forell 3aT TSl 92l 9 goedl § aftefar e
T95 W Fd HIfT |

Do you agree with the view that colonial architecture in India
is closely associated with or related to authority. ideology and

modernity ? Discuss with examples.

1 39 36 7G| Hewd § foh swa | sifafoes amgeron
T T, foaRR 9 eyfear @ gt § 2 semer
afed g9t foe=mr wifg |
Or
(3127
Discuss the contribution of Bengal School in the art movement

during the colonial period.

AT e F IR Fo w=ms § IS T

® AR # faeww Ffaw
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No choices in section III. Use of simple calculator is allowed.
¥-TE F e E@eEl d Sia TR @S LIL IV SR V& faw R ary §
Tt vz afEd ¥ Wwaﬁaﬁawmﬂm%l
Section 1
(@us 1)
Attempt any one from guestions 1 and 2.
59 1 @R 2 3 F fFE uwm o sw At

I. (a) The following are data of daily earnings (in Rs.) of employees in a company :

Earnings No. of Workers
50—70 4
70—90 8
90—110 12
110—130 20
130—150 6
150—170 7
170—190 9

Calculate Karl Pearson coefficient of skewness and comment on the result.

P.T.O.
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(b) The average number of articles produced by two machines per day is 200 ang 210

with standard deviation of 20 and 15 respectively on the basis of records of 30 day
production. Which machine is more efficient ? Explain, 8.
() T Fdt 7 sl #t A oma (v H) # sithen fefofag 3
SD) siffenl ot e

50—70 4

70—90 8

90—110 | 12

110—130 | 20

130—150 6

150—170 7

170—190 9

ﬁmmﬁﬁaﬁwﬁﬁmﬁm‘awmﬁwml

() 30 o7 3R & TS & SMYR W A WAl gRI Scuifed §HHE & yH
forgem FA9: 20 941 15 & WY FHd @ 200 A 210 ¥ HHE-T TN
g FIA 7 7 SATA HifST |

(a) Find the median wage of the following distribution :

Wage (in Rs.) No. of Employees
2,000—3,000 ' 3
3,000—4,000 | 5
4,000—5,000 | 20
5,000—6,000 10

6,000—7,000 , _ 5
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() The first four moments of a distribution about A = 4 are 1,4, 10 and 45. Obtain the
various characteristics of the distribution on the basis of information given and comment

upon the nature of the distribution.

(¢} Show that weighted arithmetic mean of first » natural numbers whose weights are equal

2n+1
3

to the corresponding numbers is equal to 3,5,2

(1) Freferan famol & Wi wogd B AW RS
T (w ) sfteri & e

2,000—3,000° 3
3.000-4.000- | 5
4,000—5,000 L 20
5,000—6,000 | 10
6,000—7,000 5

(a)@:%fam%mer:4aquantrﬁérm1,4,1069114‘5%‘13?1@
W%W%mmﬁmﬁﬁfwﬁﬁwﬁaﬁaﬁaﬁmamm
1 TFEA F IR fro @i

(@) fe@rsd & vom , ygfos den & wika siem mer frge 9x
ﬁﬁiﬁmﬁ@ﬂ?ﬁm%l

P.T.Q.
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Section II

(@ﬁg 1))

A\

Question 3 1 compulsory. Attempt any one question from Q. Nos. 4 and 3.

T 3 SPEd 3w w4 T s d § R wm SR DR

3.

Two socks are selected at random and removed in succession without replacement, from a

drawer containing 5 brown and 3 green socks :

(1) List the elements of the sample space the corresponding probabilities and corresponding

values of the random variable W, where W is the number of brown socks selected.

(if) - Using the above probability distribution of the random variable W, calculate mean and

variance of the distribution. 5

A W FAEF FA S § 9o <O foEd 5 R qw 3w oqwa # ¥ ot
# e @ fo gy W E

) vfeel wug @ aﬁﬁ ® T W T B F GEE GIGhdTd qel

gafq gedi H SUiRT R W OYU SUE H YA S H Gl g

(ii) wﬂaaw?iaata%qumﬁamwww-@faﬂmﬁmwtd
TR0 H A HIT

- (@) The probability that Roopa will get'an award in Economics is 0.18, the probability that

she will get an award in Statistics is 0.25, and the probability that she will get awards

in both is 0.13.
(/) What is the probability that she will get at least one of fhe two awards ?

(i) What is the probability that she will get only one of the two awards ?
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(b)  The ministry of agriculture has learned from a study of crop yields that daily rainfall in

parts of Haryana appears to be normally distributed with mean 2.2 inches during the
rainy season. The standard deviation was 0.8 inches.
. ()  What is the probability that it will rain more than 3.3 inches on any one day during
the rainy season ? |
(7))  Find the probability that rainfall will‘ be between 2.7 and 3.0 inches.’

(c)  Ifthe probability of a defective bolt is 0.1, find mean and standard deviation of defective

bolts in a total of 900 bolts. 4472
(al)waﬁaﬁymﬁmwaﬁmﬁmons,wﬁ@aﬁﬁo.zsmﬂaﬁ"
T 0.13 W Sl |
(i) qﬁmmﬁﬁﬁﬁrﬁa@aﬁﬁ@mﬁm@wml
© (il mﬁmw?ﬁlﬂﬁa@ﬁﬁﬁaﬁawﬁwqﬁﬁl
(a)ﬁﬁmﬁwm%@aw@xﬂ@%%m%@
mﬁ%ﬁaaﬂféﬁw%ﬂmwwﬁﬁmﬁamwz.zéﬁ%
@wqfﬁamo.ss’a%l |
0 aafﬁimaﬁéﬁmmqaﬁﬁﬁﬁ&ss%ﬁ@af%aéﬁu@m
B ? | | '
(i) Hﬁwmﬁﬁqﬁﬁaﬂziﬁnaoéﬁ@aﬁﬁiﬁl
(W) A T diee # gifawar 0.1 & @ w900 d@ied i wRE Ged @
YA A WY foue 9| #ife | |

P10,
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Inan €xamination, 30% of the students have failed in Mathematics, 20% of the students

have failed in English and 10% have failed in both Mathematics and English. A student

1S selected at random.

()

What is the probability that student has failed either in Mathematics or in

English ?

() What is the probability that the student has failed in Mathematics if it is known

that he has failed in English ?

If 20% of the bolts produced by a machine are defective, determine the probability that

out of 4 bolts chosen at random,

(1) oneis _defectiv”e

(i1) "none are defective

(1if) at the most 2 bolts are defective.

In a bolt factory, machine A, B, C manufacture respectively 25%, 35% and 40% of
the total output. Of their output, 5%, 4% and 2% respectively are known to be defective.

Find the probability :

() That a randomly selected bolt is defective.

(i) That the defective bolt is produced by machine B. 334

(a)qﬁmﬁnﬁmﬁmmm,aﬁsﬁﬁzomamm f

o we sl # SRRd T T UF T W 9wy g g w9 g

o T oE W @ W S H R 3w w7

Gy R S o MR S & Aty ag o A
st oaTe Tl ¥ 7
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() afc & Wi grr scifed el § A 20 Wi wwm § @ witasar
A SIS 6 29 ®1 A g1 T 4 Aed § q

G) 1 @S ¥
() aﬁ%mqﬁ%

Gin) STHEdY 2 Wi T ® |

(¥) T diee R § WY A, B, C Fl SCARA H1 H99: 25 Raw | 35 wfavd,
T 40 Wovd S FIA T I IARA H OFW: 5 Y@, 4 G
g 2 yiavd @S B AET S 81 Wil W iy fE o

() SO ®Y W T T A TS ¥
(7 TR B BN Ifcd H W W Siee # Wiidskdl = % 2

Section III
(@us 110
All questions are compulsory.
Tt yvT wfHEd ¥
6. If X, XZ,VX3 constitute a random sample of size 3 from a normal pobulation Qith mean
u and standard deviation o. Consider the following estimators :
W =X, +2X, + X4/4
U :'XI + X, + X5/3
(/) Are W and U unbiased estimators ?

(ify Calculate the efficiency of W relative to U estimat0r7 2,3

P.T.O.
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af TF WH= wgw Wieg y q A faee o 9 3 W%%aqﬁm'x,,
Xp. X3 S ¥ frefafad staem w faEr wiftsd

W= X| +2X, + Xy/4

U=X; + X, + Xy3
) T W A U R-faydg ewes T 2
(71) W%Hﬁ%UWEﬁWﬁmaﬁﬁm
(@) Explain briehy the statistical properties of a good estimator.

(b) | To test the durability of a new paint for white centerlines, a highway department painted
strips across heavily travelled roads in 8 different locations and electronic counters showed
that they deteriorated after being crossed By 142600, 136500, 167800, 108300, 126400,
133700, 162000 and 149400 cars (All values are to the near hundred). Construct a
95% confidence interval for the 'average number of crossings this paint can withstand

before it deteriorates. , , ’ 3,7

(A) TF F= AFdd & AR O 1 G fageryo aﬁférql

(a)muwi@ﬁﬁl@@hﬁmﬁﬁa%%@mﬁﬁm
%ww(mmﬁsﬁfﬂ?wﬁﬁu@ﬁ?%am?@ﬁﬂ
wiqs femrn f 3142600, 136500, 167800, 108300, 126400, 133700, 162000
qe 149400%5%111(3»‘{%6%613@14@#%1 (T 7oy & B
%l)@@ﬂﬁﬁﬁqﬁ%uﬁfmﬁmﬁa*aﬁmﬁwﬁ@%ﬁ?
AHd F&M F oA H a8 A I G |
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Section IV
(@vusg 1V)

Question 8 is compulsory. Attempt any one question from Q. Nos. 9 and 10.

99T 8 affrad ¥ Uy ®AE 9 T 10 H § R wEH w1 S i |

8.

Comment on the following statements : |
(i)  If the correlation coefficient between X and Y is 0.3 and that between U and V is 0.6.
The extent of association between U and V is twice that between X and Y.

(i) ~Ifall points of a scatter diagram lie exactly on the regression line then there is a perfect

linear relationship between the variables. 2.3

freafafeg 99 ® feonh sifsw -
) dE X R Y B 9 WewEry UiH 0.3 ¥ A9 U IR V F & 0.6 B
X R Y & o9 Gegry & WA ¥ U WV @ A9 HeEsry i Al

T Tl

i) AT TF feege WE b 5 fag ardfas ®9 ¥ WAWHA 3@ W-USd §

a = & e gl e = g

A random sample of 8 drivers insured with a company and having similar auto insurance

policies was selected. The following table lists their driving experience (in years) and annual

auto insurance premiums (in Rs) :

Driving Experience Annual Premium
5 6400
2 : | 8700
12 - 5000
9 7100
15. 4400
6 5600
.o | 4200
16 ' 6000

P.1.0.
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0] .Flt the least squares regression line by choosing appropflate dependent and independent

vanables
(i)  Interpret the meaning of the coefficient of the independent variable obtained above,
(7i))  Predict the annual auto insurance premium for a driver with 10 years of driving experience.

(iv) Calculate the coefficient of determination and interpret it. ) 3,223

T FA H W 8 AR F 49 yheeyl sifaa b T ae 9l h U wme
ST S Nferdt of, | g mn an) Frafafen ol T e S (I
H) qo aiftfs A fm wiftg (swd #) ® giad e © o

RUSCCRKC - aftes difeEw
5 | 6400
2 8700
12 | 5000
9 7100
15 A 4400
6 i 5600
25 4200
16 | 6000

Gy SfEa =aa g AfHd =0 H ?T*ﬁ &Y :ﬁﬁﬂtliiﬁ EGipeec %Eﬂ &) fauifa
IS |

iy TG U@ H T AT W B ﬂwﬁa? & A # ey i

(iii) Wﬂﬂaaﬁmaﬁf%mawma%mmmm ﬂﬁ'
- W AN wifS

) ﬁmWaﬁmWémww'wl
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10.  The following table gives the information on years of education (X) of farmers and annual yields

per acre (Y) on their farms :

(@

(i)

(iif)

X Y
0 4
2 4
4 6
6 10
8 10
10 | 8
‘12 ; 12
14 8
16 . 6

Fit the regression equation of yield per acre on education and give an economic

interpretation to it.

What is the magnitude of the ‘Explained Variation® in the dependent variable ? Find the

coefficient of correlation from it.

Predict the value of yield per acre (Y) when years of education (X) of the farmers are

9 years. ' . 5,3,2
| P.TO.
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ﬁﬂmﬁmﬁraﬂfwmmawmqaﬁmmmuﬁmmﬁ
U i o |

X Y
A‘o‘ 4
A 4
4 6
6 '10
8 10
10 8
12 12
14 | 8
16 B | 6

0 ﬁmmﬁwmmmmaﬁﬁmaﬁwmm
| sfds e Hifsw)

(if) Waﬁ‘wvﬁaﬁ’ﬁww%?mmam.ﬁm
i |

(il gﬁ‘mm(Y)ﬁﬁwwmﬁwmmﬁaﬂﬁmwaﬁ
(X)9a‘5f%l | | |



(13 ) 4149
Section V
~(@uE V)
Atteﬁ)pt any n;)o questions from Q. Nos. 11, 12 and 13.

Y wHE 11, 12 Td 13 § ¥ Rl @ & S St

11. (@) Using the following data, show that Paasche’s price index does not satisfy the factor

reversal test but Fisher’s Ideal Index does :

Base Year Current Year
Commodity :
Price/unit No. of ,Units Price/unit No. of Units
A 6 50 10 56
B 2 100 2 120
C 4 60 6 60
D 10 30 12 24
E - 8 40 12 36

(b) Given the following information about linked index numbers, construct chain index

numbers (Base 2003-04 = 100) for the year 2004-05 to 2008-09 :

Year Link Index
2004—05 103
2005-—06 98
2006—07 105
2007—08 112
2008—09 108 6,4

P.T.O.
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(a)ﬁ‘ﬁaﬁmﬁaﬂmaﬁnﬁ;@m%ﬁmwﬁemaﬂmﬁéwqﬂmﬁw%
T IR T wwr ¥ fmn @ oyl FEviE B SR @

T
IR T e ad

K
Eabn] AT himd AT
A 6 50 10 56
B 2 100 2 120
C 4 60 6 60
D 10 30 12 24
E 8 40 12 36

(9) e FENE qEHE @ A A P gEn @ T ¥ A a 2004-05

~ e~

;‘ ﬁ” .
4 .

EL|
2004—05
2005—06
2006—07
2007—08

2008—09

103

98

105

112

108

g 2008-09 & fau FaEen FEus YI&® (Base 2003-04 = 100) 1 FHi0

12. (a) “Laspeyre’s price index number overstates rises and understates falls in the cost of living

index.” True or False. Explain.
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(b) Examine whether Fisher’s quantity index satisfies both Time Reversal and Factor Reversal

5,5
tests.

(a)“é@mmﬁﬁﬁmﬁm—ﬁaﬁ_Wﬁmﬁamﬁm
FTR At F firar ¥ F@ A Terd | fovawor wifse

(&) qher Hifw foF = fRYR 1 o gaHio Sl 999 SchT=idl qeol qe
I Skl e @ Gqe wNdl ¥ 7

(@) Given the following information below, calculate the Laspeyre’s price index number. Find

out the effect on the Laspeyre’s Index number if the price of F increases to Rs. 70

from Rs. 63 ?
: Base Year Current Year
Commodity '
Price Quantity Price Quantity
A 49 - 20 35 30
B 18 100 ' 21 ' 90
C 80 : | 10 90 8
D 56 56 30 30
E 21 7 18 10
F 42 | 80 63 60
G 30 70 40 60

(b)) Show that if the prices of all the goods change in the same ratio, the Laspeyre’s

and Paasche’s price index numbers become equal and the weighting system is

irrelevant. : . 6.4

P.T.O.



Cie 4149

() A & T fre g @, SR $ w FRwE ol ﬁﬁiﬁq'
dOR B gewiw wen w e @ o ameg A9 T >
AW 70 T A W R

‘—————‘__//\

ey ot | S

A v | 20 33 0

B T 100 21 70

c 80 10 %0 8
B 6 Y 30 . 30

B L m 7 18 10

F | 42 80 63 60 |,
G 30 70, i 60

(%) feard 5 o @ T B oA W s § feri a9 §
TR T IR F YEhE N WER B ¥ q Wi orqeeq suwiE
g7 | |

4149 16



Table A.3 Standard Normal Curve Areas

D) = PZ=7)

4149

Standard nonmal density curve

: -Shaded area = d(z)
l‘
1
1 ]
i Il
0 z
z 00- 01 02 03 04 05 06 07 08 09
=34 | 0003 0003 0003 0003 0003 0003 0003 0003 0003 0002
-33 | 0005 0005 0005  .0004 0004 0004 0004 0004 0004 0003
=32 | 0007  .0007 0006  .0006  .0006 0006 0006 ..0005 0005 0005
=31 | 0010 0009 0009 0009 0008 0008 0008  .0008 0007  .0007
~-30 | 0013 0013 0013 00127 0012 0011 0011 0011 0010 L0010
=29 | 0019 - 0018 0017 0017 0016 0016 0015 0015 0014 0014
=280 00260 0025 0024 0023 0023 0022 0021 0021 06020 0019
=27 0035 0034 0033 0032 0031 0030 0029 0028 0027 L0026
=26 | 0047 0045 00K 0043 0041 0040 0039 0038 0037 0036
—25 | 0062 . .0060 0059 0057 0055 0054 0032 0051 0049 0048
—24 | 0082 - 0080 0078 0075 0073 0071 0069 0068 0066 0064
=23 1 0107 0104 0102 0 0099 00% 0094 0091 0089 0087 L0084
=22 | 0139 0136 0132 0129 0125 0122 09 0116 0113 0110
=24 0179 0174 0170 0166 0162 0158 0154 0150 016 0143
=20 | 0228 0222 0217 0212 0207 0202 0197 0192 0188 - 0183
—19 | 0287 0281 0274 0268 0262 0256 0250 0244 0239 0233
-1.8 | 0359 0352 0344 0336 0329 0322 0314 0307 0301 0294
=17 | 0446 . 0436 0427 0418 0309 0400 0392 03838 0375 0367
~1.6 | 0348 0537 0 0326 0516 0305 0495 0485 0475 0465 0455
-15 | 0668 0655 0643 0630 0618 0606 0594 0582 0571 0559
~14 | 0808 0793 0778 0764 0749 0735 0722 0708 0694 - 0681
~1.3 | 0968 0951 0934 0918 0901 0885 0869 0853 0838 0823
-12 | 1151 131 2 L1093 1075 1036 L1038 10200 1003 0985
~1.1 1357 1335 314 L1292 12700 425t 2300 42100 190 170
1.0 | 1587 1562 1539 1S1S 0 1492 1469 1446 .1423 1401 1379
~09 | 184 814 1788 4762 1736 AT 1685 1660 1635 1611
~0.8 | 2119 2090 2061 2033 2005 1977 1949 1922 1894 1867
-07 | 24200 2389 2338 2327 2296 2266 2236 2206 177 2148
~06 | 2mM3 0 270 2676 2643 2611 2578 2546 2514 2483 2451
~05 | 3085 3050 3015 2981 2946 2912 2877 2843 2%i0 2776
~04 | 3436 3309 3372 3336 3300 3264 3228 3192 3156 3120
~03 | .3821 3783 3745 3707 3669 30632 3594 3557 3520 3482
~02 | 4207 4168 4129 4090 4052 4013 3974 3936 3897 3850
~0.1 4602 4562 4522 A48 4443 4404 4364 4325 4286 4247
~00 | 5000 4960 4920 4880 4840 4801 4761 AT21 4681 464l

{continued )
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Table A.3  Standarg Normal Curve Areas (cont.) | Ho=He=g
e
i m 02 03 04 .05 06 . 07 08 09

————
——

0.0 |- .5000 5040
0.1 5398 .5438

5080 5120 s160 5199 - 5239 ..5279 53195359

5478 5517 5557 5596 5636 .5675 5714 5753
021 5793 5832 5871 5910  .so48 5987 6026 6064 6103 Gldi
316179 6217 6255 6203 6331 6368 6406 6443 6480 6517
04 1 6554 6591 6628 6664 6700 , 6736 6772 6808 6844 681

0.5 6915 6950 . 6985 7019 7054 7088 7123 7157 7190 7224
0.6 | 7257 7291 7324 7357 7389 422 7454 7486 ISIT 7549
0.7-1 7580 7611 7642 7673 7704 34 764 7794 1823 T8S2
0.8 1881 7910 7939 7967 7995 8023 8051 8078 . .8106 8133
0.9 ..8159 .8186 .8212 8238 8264 .8289 .8315 .8340 .8365 8389

10 | 8413 8438 8461 8485 8508 8531 8554 8577 8599 862l
L1 | 8643 8665  .8686 8708 8729  .8749  .8770 8790 8810 8830
1.2 | 8849  8869.  .8888  .8907  .8925  .8944  .8962 8980 8997 9015
L3 | 9032 9049 9066 _ 9082 9099 9115 9131 9147 9162 9177
14 | 9192 -~ 9207 9222 9236 9251 9265 9278 9292 9306 9319

1.5 1| .9332 .9345 9357 9370 9382 9394 9406 9418 9429 9441
1.6 9452 .9463 9474 9484 9495 9505 9515 9525 9535 9545
1.7 9554 9564 9573 .9582 9591 9599 9608 9616 9625 9633
1.8 9641 .9649 9656 9664 9671 9678 9686 9693 9699 9706
1.9 9713 9719 9726 9732. * - - 9738 9744 9750 9756 9761 9767

20 9772 9778 .9783 9788 9793 9798 9803 .9808 9812 9817
2.1 9821 - .9826 9830 9834 9838 9842 9846 9850 9854

9857
2.2 .9861 ..9864 9868 9871 ° 9875 9878 9881 9884 9887 9890 -
23 | .9893 9896 9898 -.9901 9904 9906 9909 9911 9913 9916
24 9918 9920 .9922 5923 | 9927 9929 9931 9932 9934 9936
2.5 .9938 - 9940 9941 9943 9945 9946 9948 9949 D05 9952

26 | 9953 9955 9956 9957 9959 9960 9961 9962 9963 9964
27 | 9965 9966 9967 9968 999 9970 9971 9973 9973 9974
28 | 9974 9975 9976 9977 9977 9978 9979  og79 S5 - o
20 | 9981 9982 9982 9983 9984 -9984 - 9ggs ' ‘

9987 9988 9988 9985 . 9986 9986
30 | .9987 9987 . ; : 9989 998 oog X
3.1 9990 9991 9991 9991 9992 - 9992 9997 ggq, .923(3) ggg(})
32 | 9993 9993 9994 9994 9994 9994 - ggo4 e P 9993
3.3 9995 9995 9995 9996 9996 9996 ' 9995 9995

9996
va | o997 9997 9997 9997 9997 9997 006 99% 9997

el B — T T 99T 9997 9958




Table A.5 Critical Values for t Distributions

I density cunve

Shaded drea = G

H003

(v?(_l()?.

31.598

12,924
$.610
6.869
5.059

5408
5.041

. 4.781
- 4.587

1y Ty
@
v N\ 10 03 025 0 005 001
1 3.078 6,314 12,706 31.821 63.657 318.31

2 1.886 2.920 4.203 6.965 1 9.623 $22.326

3 1.638 2.353 3182 4.541 5.841 10.213
4 1.533 2132 2.776 3,747 4.604 7173

5 1476 20158 2571 3365 4.032 5.893
a [.440 . 1.943 2.447 3143 3,707 5.208

7 1415 1.895 2.365 2,998 3,499 1,785

8 1.397 1.860 2,306 2.896 3.355 1,501
9 1.383 1.833 2.262 2821 3.250 4297
10 1.372 PR12 2.228 2.764 3.169 4,144
i 1.363 1.796 2.201 2718 ®1106 1025
12 1.356 1.782 2.179 2,681 31,055 1,930
13 1.350 1.771 2160 2650 3012 31852
14 1.345 1.761] 2.143 2624 2977 3,787
15 1.341 1.753 2131 2,602 2.947 3733
16 1.337 1,746 2.120 2.583 2921 1686
I:/' 1.333 1.740 21010 2.567 2 808 31646
‘18 1.330 1.734 2101 2552 2.878 3610
19 1.328 1.729 2.093 2539 2861 3.579
20 1.325 1.725 2.086 2528 2:845 3.552
2] 1.323 1.721 2.080 2518 2.831 3.527
2 1.321 1.717 2.074 2.508 2.819 3.505
RE! 1.319 1714 2.069 2.500 2.807 3.485
24 1318 1711 2.064 2492 2,797 3.467
25 1.316 1.708 2.060 2.485 2787 3.450
26 1315 1.706 2.056 2479 2779 3.435,
27 1.314 1.703 2.052 2473 2771 3421
28 1313 1.701 2.048 2467 2763 31,308
29 1.311 1.699 2.045 2462 2756 3.396
0 1.310 1.697 2.042 2457 2.750 3.385
kR 1.309 1.694 2.037 2.449 2.738 3.365
34 1.307 1.691 2032 2441 2,728 3.348
36 1.306 1.688 2.028 2434 2.719 . 3333
38 1.304 1.686 2.024 2429 2.712 3319
40 1.303 1.684 2,021 2423 2.704 3.307
50 1.299 1.676 2.009. 2.403 2678 3.262
60 1.296 1.671 2.000 2.390 2,660 3232
120 1.289 }.658 1.980 2.338 2617 3160
x 2.326 3.090

1.282

1.643

1.960

2576

|

4.437
431X
4221
4.140
4.073
4018
3968
3922
3.883
3.850
3.819
3.792
3.767
3.745

3.925
3707
3.690
3.674
3.659

3.646
3622
3.601
3582
3.566
3.551
3.496
3 461
3 373

~ N
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[This question paper contains 4 printed pages. ]

Z (
Your_Roll-No... flU J-—/J

Sr. No. of Question Paper : 4153

L)
UL

Unique Paper Code ;12033903 4\
Name of the Paper |

Name of the Course

Semester - IV

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of

this question paper.
Section A

Attempt the following : (10x3=30)

i. (a) Intoday’s competitive world, mere paper qualifications
can’t guarantee success, one also requires excellent
interperscnal skills. Briefly discuss the difference
between hard and soft skills with appropriate examples.

Or

(b) Several recent studies have claimed that despite a
“women-friendly” attitude, the professional world
continues to be male centric. In your view, what are
the various factors responsible for this gender

discrimination?
P.T.O.
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o

(a) A leader must first of all be a team player. Do o,
agree? Explain how it is important to align one’g

individual aspirations/vision with that of the team,
Or

(b) Keen observation skills are a prerequisite of the ability
to adapt in any situation. Elaborate.

Y]

(2) What do you understand by emotional quotient or
emotional intelligence? In what ways does it help us
navigate our social and professional lives?

Or

(b) Discuss some of the barriers/obstacles that can impede/
adversely affect team functionality.

Section B
Attempt any three of the following : (15%3=45)

.. Once a farmer lost his precious watch while working in his
barn. It may have appeared as an ordinary watch to others,
but he held a deep sentimental value for it. After searching
high and low among the hay for a long time, the old farmer
got exhausted. The tired farmer did not want to give up the
search for his watch and requested a group of children
playing outside the barn to help. He promised an attractive
reward for the person who can find his beloved watch.
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After hearing about the reward, the children hurried inside
the barn and went through and round the entire stack of
hay to find the watch. After a long time of looking for a
watch in the hay, most of the children got tired and gave
up. Disappointed, the farmer gave up hope of ever finding
his watch. Just when the farmer was closing the door, a
little boy came up to him and requested the farmer to give
him another chance. The farmer did not want to miss any
chance of finding the watch so heilet the little boy in.

After a little while the little boy came out with the watch
in his hand. The farmer was happily surprised and asked
how the boy succeeded to get the watch while everyone
including him had failed. The boy replied “I just sat there
tried listening to the ticking of the watch. In silence, it was
much easier to listen to it and direct the search in the
direction of the sound.” The farmer was delighted to get
the watch and rewarded the little boy as promised.

(a) The little boy shows problem solving skills. Describe
the process of problem solving as applied in this
situation. (5)

(b) Do you think that both the farmer and the little boy
deal with the problem by adapting themselves? Give
reasons, and discuss the importance of adaptability as a
skill. (5)

(c) In your opinion, was the little boy a good team worker?
Why or why not? Explain your opinion. (5)

P.T.O.
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(99

Do you consider leadership as personal growth, or collectjye:
growth? Discuss the attributes which make a good leader,’
in your opinion.

Is conflict in workplaces and everyday life normal? What
are some of the ways in which conflicts can be resolved?
Discuss with examples.

You may encounter people with troublesome behaviour in a
shop or other commercial establishment. Write about the
troubiesome behaviour of one such person and how it could
affect the clientele of the establishment. :

How is assertiveness different from aggression? How can’

assertive skills benefit your personal and professional
development?

You have been working in a company for many years and
your employers are satisfied with your work. Suddenly one

day you are asked to upgrade your skills. What will be your
reaction and what will you do?

What do the following gestures indicate? Give a reasoned

explanation of your interpretation. Attempt any three.
(a) Mirroring the other person’s body language,

(b) The Head Duck

(c) The Double-Arm-Grip

(d) The Coffee Cup Barrier |
(1500).
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Your Roll No..200.5.
Sr. No. of Question Paper: 4168 HC
Unique Paper Code 12053407
Name of the Paper ; W 3R @A (Bhasha Aur Samaj)
Name of the Course . BA (H)('E[I“I:INDI - CBCS -SEC
Semester : IV///(\TrU COZbg
T ;3 W s "1\\ quftes : 75
14 et °)
TEE I \\i{ &, <§/
1 sam—w%ﬁa%ﬁwﬁq%\%%%ﬁw FT FTHAD
feriag |
2. @l WAl & I AT |
| WA ge¥ A Mol - ogaedl S WINT-SqasR s faaeer @Y
AAqAl
W # @A A w9 v 8, Aer ¥ 9aEy (18)
2. v S S T g W e 3 e e w9 8 7

4 aFd & = A I fEr we A |

Agdar

pP.T.O.
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3.

N 3k TR & s @ we FHRw | (15)

T 3R W D sk sy W fER ¥ W= i
Jroran

R FRE @ gaf ¥ Jew N e F AeE W D
(15)

W TR @ waew & g W fEw iR
Jeran
W A % e @ oaR A we S (15)

b

=l 3t w Rt e -

(%) feenfien

(@) s st e

() o 3Rk =t

(%) sl (8+7)
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Your Roll No. PP 2’0,1«8 5" Jp
Sl. No. of Q. Paper : 4172 HC‘ %g_;;»f”“\{ ‘H\;:\)
Unique Paper Code : 12313902 - ‘\j\/
Name of the Course : B.A.(Hons.) Hlstory,nfk

CBCS-SEC '
Name of the Paper : Art Appreciation : An

Introduction to Indian
Art-Old Course

Semester s IV

Time : 3 Hours Maximum Marks : 75

Instructions for Candidates :

BEl & fag fdw -

(a) Write your Roll No. on the top immediately
on receipt of this question paper.
29 UF-TF & W BN W gRa i 9¥ oo
T AT [/ |

(b) Answer may be written either in English
or in Hindi; but the same medium should
be used throughout the paper. |

wqﬂ-q‘ﬂaﬂweﬁvﬁm%ﬁﬁﬁ@@
arar & o, AfeT ot Sax o & et |

29 =@ |
P.T.O.
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(c) Attempt any four questions.
frdl g Ul & I ol
(d) All questions carry equal marks.

g geHl B ofp gHE &

1. Write an essay on the emergence of rock art
in India during the Paleolithic Period.

QT I H 9RG & R AT @ SR | ous
e fREa

2. Explain with examples the evolution of cave
art in the chaityas and viharas of Ancient India.

—=T=7o7 $ 9T gEE 9 & 9 AR faerg #
TE F B GE B A |
OR

Bring out the difference between the
Gandhara and Mathura School of Art.

e Y AYT WA Sl ST B M & AW H
fagergor i | S |
3. Does the early medieval art and architecture

give a different perspective to the concept of
feudal decay ? Elucidate with examples.

w@qwma%wamﬂﬁ%ﬁm%
g & e STerT ORUE SeE T § ¢ 3Ae
gfeq ere i | 5
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4. Compare and contrast the architectural
features of the Delhi Sultanate with that of
the Mughal Empire. Explain with examples.

I SRS (68 TR Feaa ARGHTT | T
g 7 IS o9 gHEd |

5. Discuss art form reflected in either Mughal
fort or Rajasthani palace and havelis.
T [T STEET ST Hed g gadll H gietiard
FHAT F9S G == B |

6. Do you agree that colonial architecture in India
can be linked to European power assertions ?
Elucidate with examples.

1 A9 39 A9 | G8Hd o % WIRd H SIaaie
IEJEAT UG A geeEdr § TEid § ¢

&N\

IEEYYT Aafed gqd e B |

7. Dicuss the contribution of the Bengal school
in the art movement during the colonial period.

SIafaieres T & QR Har oTwara H S
g & ArrEr & faaRer e

3 | P.T.O.
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8. Short Notes on any two of the following
Mg & QO Rt @ wee v Rl il
(@) Harappan seals
LSR5
(b) Numismatic art

ESEERaC ol

(c) Mughal miniature paintings

SIS M EEEFT)
(d) Tanjore art

TSR el

4 2500
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Instructions for Candidates

1. Write your Roll No. on the top immediatély on receipt of
this question paper.

2. Students must attempt four questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi; but the
same medium should be used throughout the paper.

Bt @ e FEw

1 -1 @ e € e Ry e fFuiRe wm w s sawee
forfee

2. e IR Y & IR I 3 R |

3 ity ® dE e R

4. TE WEA - 6 I AASH AT R 56 v wrwr F SiRvrg, AfFT @

IR T ATEAH U B BT Wk |
P.T.O.
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1. In what ways did the nationalist hiStoriOgraphy on

Indian art and architecture differ from the Imperialist
readings?

e W ¥ WA Hell T ARGRA RIS A, Ty
e o ¥ = ouny
OR

Trace the difference between the Gandhara and Mathura
school of art.

Tl F MUR AR AYT Fe B A4 B O A [@THT D0 |

2. Discuss the salient features of stupa architecture with

special reference to Sanchi OR Amravati stupa.

A A FFEA WY D e A WU RITERA D Hg@qW acal
F T Ffa

3. Analyse the architectural features of Rathas of
Mamallapuram.

FHEAH TN & aRgEHen & deal o fagemo SR |

4.  Write an essay on Tughlaq architecture.

T W& W TF @ fifRag |
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8.

Discuss the evolution of Mughal architecture under Akbar.

AFR @ TF I WTTE ® fAwmw AR Fifw |

OR

The reign of Shahjahan was the golden age of Mughal

architecture. Flucidate this statement.

TETE T MG A AR HT Q@O G A1 | T HYT &
R FHI |

The Mughal painting reached its zenith under Jahangir.

Discuss.

T Rrreren FEAR & T ST TRy W o | e S o

The torchbearer of “cultural nationalism” in Bengal was
Abindranath Tagore. Analyse this statement in context to

his contribution to Bengal School of art.

T ¥ ‘A TgER” @ quiede sEiwer SR 3| e
# e A ¥ I AEE @ wed ¥, T e H® e
HR | |

Write short notes on any two of the following :

(a) Khajuraho
P.T.U.
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(b) Ajanta Caves

(c) Qutb Complex
(d) Raja Ravi Verma
ffofes ¥ & fFd @t w— wfte oot fofee .
(%) e
(&) st e
(1) wgw R
(a) o @ Tt
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paper.

feuutt - mm—wwwdﬁiﬁm%ﬁm‘ww
7 difste; wfea |t sl o Ao ww @ e

a1feu |

Attempt any four questions.

All questions carry equal marks.

fF= = el & Iw g
wsft gl & s g ¥

P.T.O.
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Discuss the power and functions of Members of Parliament in

India.
WRA H QGO Y vl ua el w e i
Write an essay on the role of Panchayati Raj in India.

WRd N JaEd T HHT W T ST
ey fafed

What is the difference between. a bill and law ? Discuss the different

stages of law making in Indian Parliament,

feog= (fawr) oIk & & 1 oW 2 9Rdw 995
3 FrA v & s = &t faasa sifa)
Evaluate the role of Standing Committee in Indian Parliamentary
Svstem.

YRATE HEGTT ATE] § TN A 1 w1 BT qodiw
FIF |

What are the different committees of Indian Parliament ? Critically
examine the role and functions of Finance Committee of Indian
Parliament.

yRdr wog H fafue wfifel Se-smd §7 9
Wﬁmaﬁ%ﬁﬁﬁxmqawﬁmaﬂﬁ'a“'%
Ta Fif |
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(3) | 406
What do you understand by budget ? Discuss the process of

budget making in the parliament of India.

TS QAT T T & 7 9Rdr gue § seie fmi
ﬁmﬁmaﬁﬁﬂm-

Do you think that print media has influenced the process of law

making in India ? Discuss with an example.

N A9 wHga § fF e difew 7w & & @ fmio
H i w yafaa fRar ¥ ? @ KEw ® 9y

fad=m wifs

Write short notes on any fwo of the following :
(A) Zila Parishad

B) Money.Bill

© Zero hour’

D) | Medla and democracy.

ﬁﬁﬁﬁaﬁﬁﬁﬁﬁﬁfamﬁmﬁmﬁﬁrﬁaﬁ:
() foem fteg

B) %ﬁfaa?m

© [ B

©) dwifew w dwaAl

1,600
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt of
this question paper.

2. Attempt all questions.

Unless otherwise required in a question answers should be
written either in Sanskrit or in Hindi or in English, but the
same medium should be used throughout the paper.

w)

4. Visually impaired students may attempt the question no.
3-4 ‘A’ in lieu of question no. 3 and 4.

=l & fau fdw

1 T YH-99 & fied & W Ry 1w AuiRe W@ ) s e
fefeag |

2. |t v & IR A |

3. Ul HEWE T B W, TW WUA & I G&pd A By 4@
Faon fd va o & Afoe, AfdT at IS & WA T 8 B
=18y |

4. gfecaied BT HUa i v UR W S & T T GOl 3 - 4
‘A’ & IR ford |

P.T.O.
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WO - & (Part-A)
L o & s ¥ g el o o R vd R o
WA I | (]4)

Throw light on the variety & characteristics of Brahmi
letters used in Ashokan inscriptions.

Fqgar/ OR

FNF TR TR H wex ¥ e Res =1 R avem @
27? W W YEW W |

Throw light on the contribution of Scholars towards

deciphering the Ashokan Brahmi.

2. FrfaE ¥ 3 el @ W Rah R - (6+6=12)
Write short notes on any two of the following:
(&) WMo Aen
Gouri Shankar Ozha
(@) fafoa S
Williyams Jhones
() @A« CTE
Colonal Tod | /
(¥) W qurwr T
Pandit Radhakant Sharma
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qET - @ (Part-B)

3 ReeRfyd X ¥ ARG g W SRR QaAn A | (6)

Give transliteration of any one of the following into

Devnagari.

LY GLGM JEL6HG
on

svz i e0Loyd]t

4 T | ool @ el weh % ford (7)

Write any seven of the following letters in Asokan Brahmi.

3,9, 9,9, 9@, ¢, 90U, U, q9I
dquar / OR
fot | At & TaEElT TE ¥ o
Write any seven of the following letters in Gupta Brahmi.

a, @, T, 3, T, |, W, 9, 9

-4 ‘A’ aElt faft & fAvaast ww weEr = e |
Discuss the main features of Brahmi Script.

P.T.O.
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WET = I (Part—-C)

STITADE (108 - 128 waredt) ¥ wht fift ¥ Rl 89 arch
Rty S wrdiw AR w® feu B | (18)

Write an essay on dffierent North Indian Scripts developing

from the Brahmi Script in the lator medieval period (10th-
12th A.D))

AAdAT / OR
T ¥ TERE B Tt oRw wRdw Ritd ® v Res oy

Write an essay on the Indian scripts developed from Brahmi
Script.

~ [

fFfofas 4 9 ffdt &9 W Roit ford (6+6+6=18)
Write short notes on any three of the following:
(i) oer fefg
Sharda Script
(ii) areres fofd
Vakataka Script
(iii) R sl ferfd
Proto Bengali Script
(iv) e fof

Tamil Script (400)
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1.

(a) Define the term ‘Cyber Crime’. Explain the various

categories of cyber crimes. (9

(b) Explain the utility of Internet under the umbrella of IT
Act, 2000. (6)

OR

(a) The Cyber Appellate Tribunal has the same powers as

a Civil Court but an aggrieved party may appeal to the
High Court. )

(b) What do you understand by Electronic form and how
does it differ from paper form? (6)

() @R wEa T N R AR AT IR D T
mﬁfaﬁwﬂaﬂraﬁﬁml

(@) IT sfafaa 2000 & Elq Tt o9 STARET & =/
FoT- |
Jrar
() A e sfoder & 9w 39 | whadt o ¥ o

v fafae e & 9 Wy smqe ot Iew ey |
Fier FF dhA B 7

(@) TeaciFe W ¥ T T GRS ¥ R HEen e Y A€
fFa waR fr7 27 |
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2

(a) Explain the powers and functions of Controller

of Certifying Authorities (CCA) under the IT Act,
20007 (9)

(b) What is cyber security? How can we maintain privacy of

online data? ' (6)

OR

(a) Explain the duties of “Certifying Authority” under the
Information Technology Act, 2000. 9)

(b) Discuss Cyber Terrorism and Trojan Attack. (6)

(%) IT sffEs 2000 & Al worE sfeRal & Faww
(CcA) &t i@l iR @l & = ST |

() @rge’ g o et ® 7 Siones Sl @t Maaar
FE TN W@ gHhd & 7

HAqar

(%) |= e sfafeer 2000 @ sieEta wEOE e 99
wgRdl & wwam iRk

(@) AR FFaE H Ao WER & R DR

P.T.O.
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3.

4.

(a) What are the provisions related to electronic governance

highlighted in the IT Act, 20007 (9)

(b) Describe the rules laid down in IT Act regarding protection

of electronic records. (6)
OR

(a) Discuss the provisions related to secure electronic records

and secure digital signatures. %)

(b) Explain the concept of Hash function. (6)

(%) IT sffaw 2000 ¥ W &7 § <AlE TE, TSI A&
¥ et waey =@ g 7

(@) IT Ffafes ¥ aag T Fel & 9o Hw s el
Rt & @ & TR A B

JAUAAT

(%) qufem geacia Rearel ik gt ffea swmer & wefie
TaerA & R i |

(@) B9 HEH F FhAl AR H |

(a) Discuss the scope and objectives of IT Act, 2000.
9)



7828 S

(b) Explain the penalties and punishment related to identity
theft. (6)

OR

(a) Explain the provisions of the IT Act, 2000 with respect
to Digital Signature Certificate. , 9)

(b) Give the facts and decision of the case law NAASCOM
vs. AJAY SOOD. (6)

(&) IT JOFEH 2000 & WOR 3R IR¥@ Nt fag=mn =ifom |
(@) 759 & AT A Gafm FAA R T= N A HY |
Jreran

(%) Rfeca z@mer woms & R X IT fofFzs 2000 F @
e FTA & IRAT FW |

(@) NAASCOM M 35/ ¥2 & &4 ff & = sk fofg
F AN |
Write notes on the following :
(i) WIPO
(ii) Cryptography
(iii) Copyright as a tool of security (3x5=15)

P.T.O.
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OR

Explain the following terms :
(1) Internet Governance
(ii) Private key and Public key

(ii1) Domain name (3x5=] 5)1

FefoRes w ot R

(i) WIPO
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1. (a) Explain the different kinds of cybercrimes.

IR Sy & A= 96R qagnzo | 9

(b) What is cyber security? How can we maintain privacy

of online data?
SIEST JR&T TN &2 S ST &) Frorem 21 e 2
TERYT T gHd &7 6
Or (313
(a) What are thé domain name disputes? Explain the
different kinds of domain name disputes. How can the

domain name disputes be resolved?

< T e @ &2 S aw R @ i ver

H FIHET | TR T faare @t Y & fBar o g

-5 | - - 9
(b) What do you mean by intellectual property? Briefly

discuss the various types of intellectual property.

difg® Fier & Suer #T g &2 Sifgs T &
fafe=r yart %t g & e S| 6

2. (a) Define E-Contract. What are the essentials of

E-Contract? Explain the different kinds of E-Contract.

&S Y it ooy | -arare & aar A

O &7 $oraea & fafter ward & wwast )l 9

(b) Explain the utility of Internet under the umbrella of IT
Act, 2000.

3146



rE A, aiftfam, 2000 A BAU & A=A T B |
SyAifar @&l qeEEy | 6
Or (3vgan)
(a) What are the advantages and disadvantages of using

the internet?

Hﬁz%mﬁw%m@mﬁmw%? 9

(b) IT Act, 2000 is not applicable to certain instruments or
documents. Explain.
€ A, sfufam, 2000 FB TEAE AT STBN W AL
& ¥ TR N 6

. (a) Discuss the provisions related to secure electronic
records and secure digital signatures.
¥ gefaq EaH JHAEs | | 9
(b) Differentiate between Digital. signature and Electronic

signature.
R Ty o Rffed sRmR § R Say |
| 6
Or (31’%1}
(a) What do you understand by the term E-Governance?
Explain the provmons of IT Act that facilitate E-

Governance.

3 PTO.
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g &, sfufam & EuEl & ameme .

(b) Describe the rules laid down in IT Act regarding
acknowledgement of receipt of electronic records. ¢
Qe Rarsl @ whe @ @R @ wod o
Freife oA, st & Pt @ ot Ry 6

4. (a) Describe the provisions relating to issue, suspension
and revocation of Digital Signature Certificate as per
IT Act.
AR, wfufa & o Rivew samR w 3
fr, e ok e @ aafaa yaast & aof
BT | 9

(b) Explain the meaning and punishment for computer
resource related offences under the IT Act, 2000.
A, aftram, 2000 @ SFRfd HRGE dqAET §
gEfad gl & e U9 g8 bl qaesy | 6

Or (am'r)

(a) What is Telecom Dispute Settlement Appellate Tribunal
(TDSAT)? Discuss the various provisions relating to
TDSAT.

SR R @1 feRy e (IDSAT) & €
TDSAT%waﬁmﬁ@qgmﬁﬁa%ﬁaamaﬁﬁm =

3146 4



(b) Explain the duties of Certifying Authority under IT Act,

2000.
. &Y. aiffam, 2000 & A WAV Wity &
Hl H GHHRT | " 6

5. Write notes on the following :

= ® Ruol fafey -
(a) Communication Device
§uR fearsw
(b) Cyber Forensic |
I wRES
(c) Cyber Terrorism.
TR ATAHAE | 3x5=15
Or (/=)

Briefly discuss the following :

fr= & "3 F faggar HilT ¢

(a) Causes of Cyber crimes
HZA ATl & BRO

(b) Tampering with Computer Source Documents
FO A cEaol § S3BE H

(c) Meaning and punishment for pubiisﬁing or transmitting
obscene material in electronic form.

3146 5 P.T.O.
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(d) Attempt all Sections. Answer to all

questions within each section are to follow
together.

it @uel q I¥ 291 § | gAH @Ug b g goAf
P TH Y HRU |

Use of simple calculators is allowed.

W%@—@rﬂwmmm'm%i

Section -1
gvsg - 1

: Attempt any one from questions 1 and 2

qwmlamzﬁéf%r—sﬁwzmw%

For a distribution, the mean is 5, variance
is 2, B,=+l, B,= 4. Obtain the first four
moments about the origin. Comment upon
the nature of distribution. 6

0, faqeoer & e 7qreg = 5, q97er = 2, §, =+1 ;@
B,=4. sﬁﬁwqmaﬂaﬂgﬂiamaﬁlﬁww
1 gepta a7 feogolt & |

K arl Pearson’s coeflicient of skewness of a distribution
is 0.5. The median and mode of the distribution are
respectively, 42 and 32. Find : (i) the mean, (ii) the
standard deviationand (iii) the Coefﬁcient of variation.
4

.WW%W%WW%WOS%{I

faaer & HiEAH Ud g8 sHHQT: 42 ug 32 ¥
(i) =rer (if) ST TSI I (i) SERT 7 ot ST Y
2
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2. (a) The following table shows the earnings of
100 students in their summer jobs :

100 BET & 398 TR ABd 5 g H =

T & ReEn /™ B

Earnings (3) Number of Students
s () frenfaral &t 9@
0-500 12

500-1000 19

1000-1500 26

1500-2000 21

2000-2500 13

2500-3000 7

3000-3500 2

(1) Calculate the arithmetic mean and mode
of the above distribution.
IYRITH [qaRoT & AT HeT Td ggA®
TOTAT &Y |

(1) Using the results of (i) comment on the
symmetry of the distribution. Give

P

reasons for your answer. 6
IURIh 9RO &1 IGANT (i) &aawer & Jraar 97
feoqolt &hY | 3TYAT IR HIOT Tied ¢ |

3 Pl
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b) For a mesokurtic distributic
1on,

Note

the firgt

moment about 7 is 23 and the second

moment about origin is 1000 Find the
coefficient of variation and the fourth
moment about the mean. 4

T fdes fRaver 3 R, 7 § TTH STt 23 ¥ qey

NEISECREE b lOOO%IHT?ZT@fEﬁQJTBJTTﬁHHT
SHIOT FT IOTh ST Y |

Section - II

s - II

: Question No. 3 is compulsory. Attempt any

one question from 4 and 5.

97 @1 3 ATMAEd B 1UT 4 uE 5 F J 5 uw
FT IL S | :

3. Arandom variable X has the following probability
- distribution : : ~

U% 29 97 X &1 Yiidehar f&aawer frfeieg 2

X :

-1 0 1 2

PX=x): 1/3 1/6 1/6 1/3

Find : (i) E (X) (ii) E(X+2) (iii) Var (2X) S

STrd

%7



4. (a) (i)

(11)

8625

Explain briefly the properties of normal
distribution.

Hmﬁaw%ﬁﬁwaﬁmﬁﬁqﬁﬁaaﬁaﬁ

On a economics examination, grades are
normally distributed with mean grade
being 72 and standard deviation was 9.
The top 10% of the students are to receive
A grade. What is the minimum grade a
student must get in order to receive an
A grade ? S

arefemes gqdten ®, Us ol Arem AN 72 dAT THII
e 9 & ey g S 9§ faaia feear s
2 uET $ i 10 ufaerd A 2ot 9Tt XA FH 2 |
=ad Aol o & BT o o1 @t A A0 @ AT
HA B [T STALT 9T HAT Alieq ?

(b) In an examination 30% of the students failed
in statistics, 25% in mathematics and 12%
in both subjects. A student is selected at
random. Find the probability that : 3

uep gl H 30 wfae o qifegs |, 25 ufdsd
e # ar 12 gfaew &4 v | dE%a gU1 T
BT I 39 ®Y G FAT ST & | Al §d HY o1

(1)

a student has failed in statistics if it is
known that he has failed in mathematics.

Teh BIF diftms ¥ Tq%he g3 T4 I8 ST
I 2 76 g i & oTawd o B

5 P.T.0.
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(i) a student has failed in at least one of
the subjects.
Uh BIF 9 Q &7 U faquy i 1ot BATE |

(1) a student has passed in at least one of
the subjects.

T BT FH q HH 0 R T de gan ¥

(c) The average number of defective pieces in

(a)

the manufacturing of an article, is 1 in 10.
Find the probability of getting exactly 3

defective articles in a packet of 10 articles
selected at random. | 2

T G & I § @RI 3197 37 Sfgd & 10 §
13139 &9 § g7 7 10 Gt S e § arats
9 9 3 EE 9EH $ 9T 8N & S1Rehar s Y |

Two firms A and B consider bidding on a road
building job, which may or may not be
awarded depending on the amounts of the
bids. Firm A submits a bid and the probability
is 3/4 that it will get the job provided firm B
does not bid. The probability is 3/4 that firm
B will bid and if it does, the probability that
firm A gets the job is only 1/3. 4

0% Tgah g4 & HH U & BH A qe1 B il «®
o T &, T A & A & SR W e
fepaT A7 Tehar & a1 et ff | B9 A T e d9
AT & 3T Aifgepdr 3/4 B Si"ih ®H B Hiard €
AT | giE B B & AIdArE i @t wiidendar 3/4
g, dl %H A & e qr @ Siidekdr 1/3 8 S €

(i) What is the probability that firm A gets
the job ?

oITreRdr AT 5 B A i qrT & ¢
6




(b)
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(i) If firm A gets the job, what is the
probability that firm B did not bid ?

A BH A T 9T R A TR 9T B R o
B F Al e eRmEr 2

A student Union Leader believes that 30%
of all students will strongly support his
demand for a tennis court in the college. He
approaches S students at random to ask their
opinion. What is the probability that majority
of these students will strongly support his

demand ? >

T BT HISH 1 =1 {9991 & € 36 it & 2
HIE o [T et BT & 30% TI | T AT A
THE &7 | d I 7 B g8 B 1T 3 =g #§ 5w
& 9H S B | Wi R R 6 39 sEl & 9gHa
&A1 39 HAT 1 AT 9 FHH BT |

In a bolt factory, machines A, B and C
manufacture respectively, 25%, 35% and
40% of the total output. Of their output,
respectively 5%, 4% and 2% are known to
be defective. A bolt is picked up at random-
and i1s found to be defective. Find the
probability that it was produced by machine
B or C. >
ush dice e § AN A, B @1 C el IA1EH H
AT 25%, 35% T 40% I Hd & | I HA
Icaed H HHA: 5%, 4% qAT 2% TS A Bl A
SATAT B | U Sice &Y 39 WY G FAT @l § q&AT SR
T ST & | WAkt ST 3] 6 g8 |eiie B ar C &

Iaqiied fepar T &)
7 , | P.T.O.
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Section - III
gvs - III

Note : All questions are compulsory.

gd uew StEE ¥

6. Define an unbiased estimator. If X, , X, X,
constitute a random sample of size 3 from a
normal population with mean p and standard
deviation o . Consider the following estimators
of the population mean for unbiasedness and
compare their variance :

A= 5X +2X,+3X,/ 10;
B = X, +2X +3X,/10 and
C= X, +X,+X,/3

Which of the three would you prefer and why ?
5

fFroqey SRt @l O Y | af?X , X, X, T 9
9 9 999 [99a- o a7 °71eT u was\mwa?@
¥ AT ) G Y | e & R e ey & i
STETel IR femR 3 qei 39 JERoT | gl &1

A= 5X +2X +3X,/ 10;
B =X +2X,+3X,/10 3R

C= X, +X,+X,/3
9 & F e oy e 33 g a2
8
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(a) A paint manufacturer wants to determine

the average drying time of a new interior
wall paint whose drying time follows a normal
distribution with mean p and standard
deviation o . For 12 test areas of equal size
he obtained mean drying time of 66.3
minutes with standard deviation of 8.4

minutes.

TFH Uve ITEH U 3 T ST Ive & 3719d @
= HE FAReT AT =Sedr & e gEe w1 99y
grETg faaver & qreg p g y9Y faEad o @l
STFEYYT AT & | A TR & 12 it &30 & g
92 8.4 e & JHY == & 91Y 66.3 e &

T T99 YO AT ABAT & Tl g@ Bl G99
TrEg fga¥er & Aeg u 9 999 f@J=Eed o @60
SFHTYT HIAT 8 | FMHA ST &6 12 ST &= & [/
gz 8.4 M & 9HY [a=as & 91 66.3 e &
HEd @1 T 9T R |

(i) Construct 95% confidence interval for
the true mean u.

AT HIH u &b 1T 95% Taard STaet &l 15 |

(11) Would a 90% confidence interval
calculated from this same sample have
been narrower or wider than the given
interval ? Explain the reasoning.

FT 3H GHEIE THAT @ ITOTAT 64T 711 90% fa9arq
STAU 4 718 siaaa § deptera ar frara <t
2 | aIfher =9 § 9H=T |

2 P.T.O.
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(iii) Consider the following statement :

- P By W) R Y |

“The calculated interval implies that the
true population mean p lies in it with
probability 95%.” Is this statement
correct ? Why or why not ? 6
“rorT RRT T SfaRIer § AR 8 fh § 99T
A [ ST 95% HTekdT & AT S TSl & |
" T g8 B G & 2 i A1 i e ?

(b) In order to estimate the average landholding

of a rural household in a district, a random
sample. of 400 families is taken. If the
household landholding is known to have a
standard deviation of 3 acres, and mean
landholding obtained from the sample 1s 6
acres, calculate the 95% confidence interval
for the mean landholding of all the
households in the district. 4
uep forem § Ueh TTHOT ST @ ST ATl H
ATHAT B %HH F 400 afary & g T REr s e |
afe Jeeqrdl AR Bl 3 T & FHIY faea 7o 6
Uhs & ey & w9 H ST S 8, Bt # 39 T
A 9T ST AR & [T 95% feary e &l
TOTAT X |

10
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Section - IV
gvs. - IV

Note : Question No. 8 is compulsory. Attempt any
one question from 9 and 10.

g9 9T 8 Afvard 8 1 ueH 9 10ﬁé€rﬁ'§qzs
g9 & I < |

8. Calculate the values of Y = (X - 4)3 corresponding
to values of X = 1,2,3,4 and 5 and obtain the
coefficient of correlation between X and Y. Is
the coefficient of correlation unity ? Why or why
not ? | S
X=1234aq05% gl @ dgtead V= (X-4)°s
AT Sl TOTHT e TAT X T Y % 1= qedaer 3 ot
O < | &1 Fe e & I[OTieh 3613 & 2 41 a1 &) =8 |

9. The following table gives the information on
years of education (X) of farmers and annual
yields per acre (Y) on their farms :

Frfeigd 2aa frar & e @1 ad (X) qer 39 ad
I ufd Tehg (Y) aiden It & gaar & S B

X| 0|2]|4|6 |8 |10[12]|14 | 16

Y| 4|4|6]|10[10[8 |12]8 |6
11 P.T.O.
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ssion equation of yield per acre
X) and give an economic

- S

(i) Fit the regress
(Y) on education .(
interpretation to 1t.

_qﬁ@m(Y)%fQT&ﬂ(X)WWWW?ﬁ
T HT a7 3T ST fAfedrel Pl qAE |

(ii) What is the magnitude of the ‘Explained
Variation’ in the dependent variable ? Find
the coefficient of correlation from it. 3

Tty Gx § “eah faeer” @ AT R 8| 59d
TeqseT & IOTH &l I DY |
(iii) Predict the value of yield per acre (Y) when

years of education (X) of the farmers are 9
years. 2

oty b IuST (Y) BT o ST & S fehar=r
farerm (X) & ad 9 B

10. (a) A regression equation Y on X for 10 pairs of
values of the variables provides the value of
the coefficient of correlation as — 0.8. If the
variance of Y is 25, calculate : 3

=7T & et B 10 At B KT Y 9= X 1 Afae =
THIBOT AEHE & 0T B Jod 0.8 a1 & aX Y
T TAOT 25 B @l 0T Y 76 ¢

(i) the proportion of the total variation in Y
that is explained by the regression.

Y # g f=dor & o799 afqe e &R EAsh
fepaT ST € |

12
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(ii) the total unexplained variation

el ST [q= LT
(iii) standard error of the regression
qRerTae 1 ST faHH
(b) For a given set of bivariate data, the following
results were obtained :
ey iR 3BT e R g3 81 & e fert i
uTe fhar AT
N= 100, yX = 5000, XY = 10,000,
Yy X2= 2,60,000, yY2= 10,40,000,
Y XY = 5,16,000 .
(i) Find the predicted value of Y when X = 60
Y & ST 4o S Al ST X =60

(1) Calculate the coefficient of correlation

between X and Y.
X @@ Y & S Gedds O i IO Y |

(iii)What is standard error of estimate in the

regression of Y on X ? 7
Y 9¥ X & gfadqie - | STehaty @ JHIY {1 =
g ?

13 P.T.O.
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Section -V
g - V

Note : All questions are compulsory.
g geq syfart &

11. (a) Using the following data , calculate Marshg]).

Edgeworth and Laspeyre’s price index. 4

YT STTRST T SUAINT 3 G, AT -ToTered qorT atfeyey

HHT FIHIH B TN B |
1 Base Year Current Year |
| SR g9 . gdHe ag
( Commodity | Expenditure Quantity [ Expenditure| Price
A 360 12 | 200 20
B 64 16 36 4
C 575 23 | 238 14|

(b) Using the following data calculate Fisher’s
[deal index and verify that it satisfies both

Time Reversal Test and F actor Reversal Test :
6

14
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oy aTichST 2T IUHRT Hid gQ , X B ST FIHS
2 TTOTT T AT HATIT e (e T8 Sl G FhHdT
Sifer qer e SgEhHdT St BT Gge BT © |

Commodity Base Year Current Year

CISS VAN SR a9 oA g9

’ Price Quantity | Price Quantity
qea el g Hqr=T

A 6 50 10 60

B | 2 100 2 120

C 4 60 6 60

12. (a) A department store sells personal computers,
laptops and Ipad. The percentage distribution
of the total sales volume (in rupees) 1s
estimated as 30% personal computers, 50%
laptops and 20% Ipad. The prices of personal
computers, laptops and Ipad in 2010 were
< 20,000, ?15,000 and 5,000 per unit
respectively while their prices in 2015 were
25,000, 25,000 and ¥ 8,000 . A weighted
price index for 2015 with base 2010 is to be

computed. 6

15 ~ P.T.O.
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g iy e eqfRpa &Hgey , A9 ey
-V erar ¥ | et feht mrm (% H) & Afaer faaer o
30% safRpTd e ,50% Auerd qer 20% -9 &
g F a7repferd fhar srar & 12010 H ARhTd HeT
A9erg qor [-9 @t @i sAsr: 20,000 1,15,000 %
@& 5,000 T i 3RS o S/Efes 2015 # @hiHd 250009 -
25,000 @ur 8,0003 & 12010 & YR &% T
2015 & T IR BT Gahih l SAThIT DioTd |
(i) Which index number formula 1s

appropriate and why ?

I —dT GAhich HaY G Ifed & A /i ?
(11) Compute the index

gahih I T Y |
Show that if the prices of all the goods
change in the same ratio, the Laspeyres’s

and Paasche’s price index numbers become

equal and the weighting system is
4

irrelevant.

Reany fo afe gl aggall @ HHd GHe STgad H
qrEafdd sl & af JTEaY a&r 9Ie i SHiHd FIhiD
GEaT GHIS ST TR IR SRl SRS & |

16
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T Cumulative Binomial Probabilitic 5
“al:ii?i umula ilities Benp) = S bisen

-0

Q01 005 010 00 615 030 040 050 060 070 075 080 0% 095 0

098 gk S0 3B 27 e o1 0 00 ooz’ 000 000 000 000
Lo9® 9 919 1 63 S 37 J&8 081 031 016 07 000 000
2000 9N 991 942 896 83 681 500 317 .63 104 0 058 09 .00l
L0 1000 1O 993 9% %9 913 812 663 A2 367 263 081 (03
4100 00 100 100 99 M8 9% 989 M 832 J63 &2 4l 226 09
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o8l 005 010 00 02: 030 040 050 040 ‘-6.70 0.75 080 096 095 099

O 30 340 107 056 028 006 000 000 000 000 000

0 . ( W0 (X0
Lg% sS4 76 376 244 19 046 01t 002 00 000 0000 000 000 000
2 LO00 888 530 678 526 383 367 055 012 002 000 000 000 000 | .600
31000 9% 98T &9 776 650 3R AT2 055 01 004 001 000 000 000
L4 Lo 1o sse 967 Sn 30 633 3N e o, 020 006 000 000 900
§ OO0 1000 1000 9%% 980 993 834 623 0 J67 .50 078 033 -002 000 00O
4 1000 1000 1000 9% 9% 989 945 828 618 350 224 20 013 000 000
7 1000 1000 1000 1000 1000 998 988 945 035 617 474 512 070 012 000
¢ 1000 100 1000 1000 100D LO00 998 989 954 B5T 756 624 264 086 004
o 1068 1090 1O00 100 1600 1000 1000 992 9% 972 544 895 681 At 458

R

gl 065 810 020 025 030 040 050 080 070 038 0.80 R

2
g
&

95

&

560 463 206 03 013 005 M 00 00 000 00D
0 59 59 467 080 035 M5 000 000 000 000
0 964 216 398 2% 120 7 004 000 00D 000
LOO 995 84 648 461 29T 091 018 002 000 DO 0

000

ol

004

.

28888 88888

8833283838888

100 9% 987 B3 6% 515 217 0597 009 001
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Table A1 Cumulativ Binomial Probabifte fcont)
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Table A3 Standard Normal Curve Areas
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Unique Paper Code
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B.A. (Hons.) English—CBCS-SEC

v

Maximum Marks : 75

(Write your Roll No. on the top immediately on receipt of this question paper.)

Section A

Attempt the following : 3x10=30 marks

s

L. What do you understand by empathy and sympathy ? Explaiﬁ

with the help of examples.

Or
What are the characteristics of an assertive person ? Discuss.
Teams can accomplish more than a single person can. Illustrate
with the help ‘of an example.

Or

How does one cope with conflict and Ego ?

P.T.O.
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3. How is listening different from hearing 2 Why ic it :
g 18 vhy is it iMportang
to listen ? |
Or
Why is it important to listen to every  employee ij the

organization, including those at the bottom of the

hierarchy ?

Section B

Attempt any three of the following : 3% 15=45 marks
1. It is said that_ no matter what the fask, people naturally assume

certain role in a team. Discuss the concept of team roles, and
attempt to ,ex.p(lain them with brief examples. .

2. In your opinion, what ni‘akes é good leader in an organization ?
Discuss the qualities of a good leader.

| Nowadays, the modern workplace démands a capaciiy to cope

W

with change. Do you agrée ? What is the importance of
adaptability in one’s working life ? Explain with examples.
4, | People with higher emotional mtelhgence are more capable of
understanding and managing stress effectwely lllustrate
5. You have been working in a company for many years and
your employers are satisfied with your work. Suddenly on¢

day you are asked to upgrade your skills. What will you do

to improve your - skills ?
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6. What are the steps involved in problem solv.fng ? What are
the characteristics of an effective solution ? Discuss.

7. What do the following gestures indicate ? Give a reasoned -
explanation for your interpretation. Attempt any three :
() Playing with the pen/pencil during the class )
@) Holding hands behind the back
(3) Covering the mouth with hands

(4)  Scratching the neck with the index finger.

8629 3 ~ 1,800
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Unique Paper Code . 12313405 \ff:k_
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(NC)
Name of the Course - B.A. (Hons.) History -
CBCS - SEC
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Semester IV

Duration : 3 Hours Maximum Marks : 75
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Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.
2. Students must attempt four questions.

3. All questions carry equal marks.

4. Answers may be written either in English or Hindi;
but the same medium should be used throughout the

paper.
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2. WA UR T B IR oA ARt 2
3 T D FAFTHE

4. T9 WI-UF HT IR aﬁm%ﬁ%ﬁwwﬁﬂﬁq,ﬁm
Tf ITA & AAA TF & B WY |

1. Trace the historiographical shifts in the study of

Ancient Indian art and architecture.

TR HRAE el JR aRgael & 31eHaT & ded ¥ zhem
@t ¥ 8w IRad @l @i #e |

Or

Outline the main features of Mathura school of art.
How it is different from the Gandhara School of art?

FA H AW IR A e FAdwarst @ Y wtw | T
fre 7@ & w1 N MaR AR A e 27

2. Discuss the origin and essential elements of stupa

architecture with special reference to Sanchi or
Bharhut stupa.

mm“@@%mﬁﬁﬁgwaﬁsﬂ%ﬁ
TEETH we  w= f |
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3.

Analyse the architectural features of Khajuraho

temples or Rathas of Mamallapuram.

e AR A WA & T H ARGHAN R T T
fageiwor Fifow |

Describe the architectural features of the buildings of
Qutb Complex.

e IRE H TFRA A I FeR N g Pt #
faa=mT i |

Discuss the architectural development under Akbar.
yFR B FE A OIS B A A e D |

Or

“Humayun’s tomb is the precursor of Taj Mahal™.

Elucidate.

“@immﬂmﬂwm%”lma&mu

Write an essay on the development of Painting under
Akbar and Jahangir.
msﬂzmﬁ?‘ﬁia‘?mﬁ'ﬁm&ﬁa{qumﬁﬂ
forfea |

P10,
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7. The “Bengal school of art” was associated with Indian
nationalism. Elucidate this statement.

R e SR T ol R g s

& ARAT ST |

8. Write short notes on any two of the following :
(a) Ashokan Pillar
(b) Ajanta Caves
(c) Khidki Mosque
(d) Amrita Shergil
FfeiE ¥ ¥ feed @t w G ool fifae
(F) o w5
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oot 5 97799 @1 T At ar R<h Rt v T
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Altempt any four questions.

All questions carry equal marks.
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(98]

Examine the powers and functions of members of Parliament

of India.

WA ¥ wae @ gol @ ol ud gifaend qiterur
HT |

Explain the working of Panchayati Raj System in India,
SIEG ﬁ#wﬁmmaﬁmmmﬁmmh

Explain the process of law making in Indian Parliament.
WA §6% § R fwfor whear 9 e HifoTg |
Explain the role of Media in the legislative process in
indiz

TRE F frame ufear & A & gfer @ aen
Fifo | |

Explain the various committees of Parliament and their

role.

A gae #i fafaer afafaat ofv o yfver @& @
FHIAT |

Explain the process of budget formation in Indian Parlia-

ment.

T qag § gue fmfor afear &t amen i |

8682 s



7. What is a joint session of Parliament? Explain the role and
signiﬁcame of _] oiﬁt session of Parliament in legislative process
in India.
dag & §gF 9 a1 §? qrd ¥ e abkar § 99
%mmﬁwwmmwml |

8. Write short notes on any two of the following : .
R & @ Rl @ W ar faht R
(a) | Bill and Act

fregs® T
(b) Role of an MLA
femas & iR
(c) Standing Committee
ol afafd
(d) Types of Media.
Az & g |

8682 _ 3 1600
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2. M YT & IR AR

3. mm#ﬁﬁw,wwmwwm%m
ST foRel e v 3 AT, 6T TR IR e v
BT ARV |

4. ﬁ%mwﬁ@wma@%www@
3—4 ‘A’ FT I ford |

Part—- A / AT - &

sl ol & Sgrem & 3 W e I (12)

Throw light on the history of decipherment of Brahmi
Script.

Jedar / OR

FIFHTNT qTa) & T96q TF  (afgreast o T
T |

: kan
Throw light on the form and main features of Ashoka

Brahmi.
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2. elled A A e o w ool - (673=18)

fRfevo S, St B, . v M, e fiRaw, gedt
Y

Write short notes on any three of the following :

Villiam Jones, James Princep, J.H.Harington,
Dhammlipi, Girinar, Sudarshan Bandha

Part-B / 9191 - @

3 T ¥ ¥ e vw e smore 9 Rl Y w

(9)

Give transliteration of any sne of the following into
Devnagari Scripi.

WAL NG L HE F bt A, +JBE
qAHnl.
o

Ul XaeeaE b a ) TN £ 24

4 A A w aol @ e T R
(¢)

P.T.O.
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Write any six of the following into Ashokan

Brahmi

Jerar / OR
frer ¥ & Rell ©: a9 W e W ¥ R
Write any six of the following into Gupta Brahmi
z, 49, &, €, @, =, ¥4, 4 I 4

3—4 ‘A’ 9T fft & B Safa & e @ o=

F1

Discuss the theories of foreign origin of Brahmi

Script.

5. Wwﬁm@ﬁﬁﬁﬁmﬂw‘wmﬁl
(12)

Throw light on Brahmi Script’s journey of development.
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derar / OR

WRag ol & faem wa A efow wreda fofial @ s

fofe &1 = ywe W@, @ |

Describe the influence of Brahmi on the South

Indian Scripts in the course of development of Indian

Scripts.

6. Fra A ¥ ol d W ool ford - (6+6+6=18)
Write notes on any three of the following:
(i) =z
Devnagari
(i) 9meer
Sharda
(iii) =Hfeatafa

Kutila Script

P.T.O.
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(iv) Wy sash
Proh»chngaH
(v) SR

Newari

{
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orEl & fog Fdw

7@ W -9 & fed € W Ry W FuiRe @ w sy

s T |
2. TEUT-UA N IS YA ® |
3 gl WIT AEd ? 3R 8@ 25 3w ¥
4. FETHAG 2-8 W AT 5 W F | UAF W 10 3 w0 2 |
5. T WTT-UH A ITR T A1 TR R wem srwr ¥ A, A

TN IR AT M ek & BT R

I. (a) ‘The structure of a research paper is a gateway

to a research project’. Discuss.

(b) A marketing company wants to know the popularity
of a newly launched product across males and
females. A survey was conducted on a sample of
200 respondents. Develop an appropriate frame

of analysis for this exercise.

BT AT R T

v\ "‘1 T B e "";‘ (1_; - > g ‘N
panunu, Coligge Lrorar*g

i » N w1l b (Y < N ;

k\?!‘\ﬁgt, b & W L?;:?f 5']?}
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(c) Enlist five problems that a social science
researcher may face with secondary data sources

with an example.

(d) What are the determinants of validity and
reliability of a research instrument? Do these
determinants differ across quantitative and

qualitative research?

(e) A researcher outsourced data analysis work
for her academic research. Is this ethical/
unethical in a real life setting of our contemporary
world which 1is governed by the market

economy?

(3r) My oG F TWEA TE WMy RO F T ¥ qeH
iRt T 2, 3@ e @ Emen &1

(@) wE Ruum e TE AT Iee @ Te sk
et ¥ Wi & W A IHT AED 2 @
fro 200 viEERdl (FARew) &1 dve TowE xS
3| g wEy ¥ W & S @ 93w IR
B ?

Deshbandnu.College Librar

Kalkair Mew Dathian ——
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3047 4
(H)Wﬁlﬁﬁﬁﬁ%ﬁﬁﬂ'ﬂﬁﬁaﬁmmﬁiﬁmw
%Wﬁﬁ%ﬁfﬁamaﬁ%?mm

AW |

(7) %@raﬁumaﬁ%maﬁrﬁmﬂ:ﬁqﬁ;a}aﬁ?_ﬁq
¥ e T B 27 A i e gy
& MUR R fawg & & 3w 2 7

(3) T Muwd ¥ AW FFEE N D W R
fagawor o1 & R IR 9 e ¥ W YR T
2] TR & TE IR F T VG HE N A

&1 JedaT & 7

2. (a) How do an essay and a working paper differ from

a published research paper?

b) Which element of the research process leads to

fresh dimensions of the existing literature on 2

particular theme? How?

(31) wﬁa‘u.sﬁrwaﬁ;ﬂﬂwﬁﬁwﬁmsﬁum
I e P e B 7
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(F) M SnoRa &l -l [Bear 2 o AY S Rl S

A B 7 3R wd 7

3. (a) How does a research design differ from a study
design? What role does the literature review play

in deciding a study design?

(b) Research outcomes based on quantitative data are
influenced by categorical variables. Elaborate on
this using five possible ways of categorizing

variables.

(3) ¥y weT foRE YR EAU WIS ¥ IeNT BT B 7 U

AT YTET & 994 &3+ ¥ HiEw JgeiaT fhg 9@

A Hee Fdl B 7

(@) st W ford @ & AETE SRSl W SMUIRT Uah 3y
& Ui @ A el ® 7 S R T U YRR
A o FRd gV qHEEd |

4. (a) Can good research be conducted without framing

a hypothesis? Explain.

w

De#hbandnu College liege Librat |
Kaltkaii Mew Dethi-®’ PTO.
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(b) A resecarcher wants to examine the cffectiveness
of a public health policy running over three decades
for people of a particular region. What type of
study design must she select to estimate the policy

impact and why?

(37) = WR IREEN T I T vw st My
q¥g B 7 qUT @ |

(¥) @ 87 A & W= @R A fted § w3
ToE ST TE B | RIS M FqE WTEIET S
TEA B | @R T I A @ smEe yRw e
FE A1y 7

(a) The human resource manager of a company that
employs 600 people would like to introduce new
uniforms. She attempts to find support for her
decision by talking to a sample of 10% of
ecmployees. Outline two methods to draw a sample,

and mention the advantages and disadvantages of

both methods.

S\
LAk

Dfo NDaNdn i éf‘}{lff}ﬂg L ”";y’f,\j‘, ol &
Kelksafi, Mav: Dalhi
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(b) An external aggression has forced thousands
of students from country X to return to their
home countries. You have been asked to suggest
some policy prescriptions for rehabilitating
them. What kind of sampling method will you use?
Also briefly discuss the mode of enquiry you will

usc.

() e GEUe ELe Qe hael, s 600 AN
w3 #, ¥ 4% a8 AR & dEdQ 2 | 98 10 Hwd
FHIRA A T FA D MR W oA 7@ fofa &
T8 ¥ S W 2 | U A @ o e A
FoRT & TAD 98 IR 7 IR FET IR THEHA h
G A L

(@) R TS A a9 ¥ TR fEs w X em
¥ A -JTA IR AleAT G=AT B | TR IR
qatg & forg & Ffd gam & forw e 21 s
FrT-ar FufeAr AT AN IR IBAS H qQE T4
FAR 7

Deshbéndnu. CoMige Library

KdlKa}?; "Q(‘/ ngfhi 10 P.T O
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6.

e ~o
N3

8

(a) An organization conducts a survey aboyg
e

employee experience who u .
ploy p nderwent g training

session. The following questions were asked o
n

the Likert scale.

Statement 1:

Statement 2:

Statement 3:

Statement 4:

Statement 5:

Statement 6:

The training was relevant.
The instructor was engaging.

The quality of the course material

used was poor.

The multimedia tools used were not

effective.

The content used was easy to

understand.

The overall experience with the

training session was satisfactory.

Each statement has five possible responses. For a

. ; ‘ve-point
positive statement, the corresponding five-poin

numerical scale is as follows:

; ‘ g Yy T
Nashbandnu College ! iv7arv

~

' }
AL REE
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Strongly Agree 5; Agree 4; Uncertain 3; Disagree
2 and Strongly Disagree 1

Two employees’ feedback is presented in the
table below. Which employee found the training

better?

[ Employee 1 Employee 2
Statement No. T 1213 (45 |6 |1 [2[3[4]5]6]
' Strongly Agree # * | * B
Agree ' # # | # s

Uncertain #
Disagree #
Strongly Disagree )

A S

(b) Explain the concepts of ‘inflation factor’ and
‘sampling fraction’. What are the common errors

in conducting a sample survey?

(3) TF WeA 3T s @ R wem & s A
U 93 FT € foferd 9AM W SMenRa I feAfefad

LECER CERIE

HY 1 ; wiEeer yEfie o

FUT 2 . Ui =T A

Desh~:~dnu.College Librars
K@lksi New Calhi-19 P.T.O.
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DA 3 ¢ UISEhA @) gERlt wfear G
AU 4 el lSur Jueur g S& 9
U 5 avgar e &
U 6 A FietE wfienr g7 Ao qp
Y U & U GG IR | U AERE Fh
%W,W—W%Waﬁwﬁm@w%:

Tl ¥ WEAA - 5; WEAd - 4; AT -3 JFEEHT-2
AR Fear ¥ I@EAd-1

3 AR E afafhar A e ¥ @ @ R e

| FHAR 1 HHARI 2
“Statement No. 1 [2[3[4a]5]6 1237145 |6
2¢dl | HgHd # * .
 "ggad # #o|# *

fAfga # *

IEHd i *

Lm@mﬁ *J

(3) zTA Wact AR Ao BE A AN F) T
I | vk AU W9 FRQ qwE B A G Jfedl
& T Fifeid |

Deghbaﬂdﬁu,%ff{)!iagevtib?%ﬁ

% 1 O
Ka'kaii, Mew Delhi-13
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y Coding of data depends upon the measurement
7. (a) LoC

ale of a quantitative variable. Elaborate.
Sca ¢

(b) What 1s the difference between referencing and
citation? Describe three common referencing styles

that arc used in academic research.

(¥) WS AN FRT AASE W H AT D P W BR
F@l B | foER wwenEd |

(F) &= 3R IS A F1 R 2 ? e My A wgead
B a fhel O e Wl 19U e |
8.  Write short notes on any two of the following :
(a) Role of ethics in research
(b) Qualitative approach to research
(c) Snowball sampling

(d) Reliability of a research instrument

Deshbandnu.Co"ege Library
Katxau, Neaw Da!hi-m : P.T.O



3047 12
fFefofas ¥ ¥ fl @ wowy ot foran

() WMu A JuR AN fia
(/) T Wy QA
(®) € Jufor

(7) My Iysweor & fazaa-ean

Hesnbandnu.College Library
Kalxali, New Delhi-19



-\
g |

[This question paper contains 4 printed pagfis:]

Your Roll'Nu.....
!(/) -
“*,,!.\ 5\ “\AO
\ (D ) P
Sr. No. of Question Paper : 3066 ¥
. /[:)/},
Unique Paper Code : 12313405

Name of the Paper Indian Art and Architecture

Name of the Course BA History Honours (SEC)

Semester IV

Duration : 3 Hours Maximum Marks : 75

Instructions for Candidates

1. Write your Roll No. on the top immediately on receipt

of this question paper.

2. Answer may be written either in English or Hindi but
the same medium should be used throughout the paper
3. Attempt any four questions. Desho- iy Collers | ihy

4. All questions carry equal marks’.\mk”'i New Delh

ot @ fau Ade
1 T - & fier & e Ry o FuiRe e w s
EEFTICATICIES

2, wm%maﬁﬁrm%ﬁmwwﬁaﬁ@,%
N I TE A Weaw ¥ B =iy



3066 5

3 &= Or v & I SR
4. T TR B IFF T R

Deshbandiiu C ollege Libra?);
Kalkaji, New Delhi-19 -

1. Examine the orientalist and nationalist viewpoints of
Indian art.

WA H B WA IR U@ gResmer @ ude
HITOT

2. Examine various features of Gandhara and Mathura

school of sculpture.

HfEe & MR 3R 7Y et ot AT Rdrwarst & gdem
T |

3.  Examine the contribution of the Chola dynasty to

Indian art.

W& &en A O 99 AEEE T qQer it

4. Explain the significance of Ajanta murals or Kangra

paintings.
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|

sotar MRy R @ s o & fRdwaral & @we ]

Write about the making of Jama Masjid as an emperor

mosque 1n the city of Shahjahanabad.

TEWEFEE &R A A1 Aol & 8! afeee a9+ &t wieha
= R ¥ ffaw

Examine the colonial architecture of Lutyens Delhi.

qeaw ol &t siofafie argeen &1 @ W

Analyse the Mughal paintings with special reference

to the development of portraiture paintings under
Jahangir.

RN &= FI o R & few @ Rl west ¥
o = fagemor &4

Describe important features of Bengal school of art
or Madhubani painting.

sae Liorary.
s o
qatt, Wey e Viethi-1f

PR P.T.Q,
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oEl & forg fAew

1 =9 YE-Td @ e & 3w Ry W FUiRe e W s
I fofEy |

0. QU NEYTE A B W, 38 WIATA HI IR & A fowl 7
S ) e AT H AfTg, AfRT a3 ST 1 e T 8
B RY | S fReier ST g A T TR 3 FCA1 6 W

TR YT G 3 — 4 ‘A’ F IR ford |

[T -3 /Part-A

1 e Tt @ fawm Wy 3w | (15)

Throw light on the development of Mauryan script.

Jedar / OR
a@%ﬁﬁmqﬁaﬁ%mm%n

Explain the changes occurred in the Brahmi script.

,  Frefafaa ¥ A B A W el fofe
(6x3=18)

D ‘ Y- o

Deshbancnu. Coliege L:orar‘\,
Kalkaji, New J Dalhi-19 -
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Write short note on any three of the following :

AN - /Part-B

3 frefafes ¥ ¥ 6 ge & geed daana d
ity (9)

Give transliteration of any one of the following into

Devanagari.

Jrerar / OR

D.Sh Da .’\{ﬁ?‘*uj_‘;gﬁ%g@ Ltbta}y
K&!%’\JH f‘ie(’y Ue'h‘_1g s

P. 1.0,
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3-A s T Ao s fofa o (4)

Write any four of the following alphabets in Brahmi

script.
q, ST,Q’F{,G{,E[,'@",?T,?I,WI

A-A Tl TR au &t el se ot # ferd 1 (5)

Write any four of the following alphabets in Brahmi

script of the time of gupta period.

# 9 9 9,9, ¢ 6,1, 4, ¢ |

AW =T /Part-C

5. ¥R WA fafiat & Swfe vd ower w1 e

FIAT | (15)
Describe the origin and kinds of ancient Indian
scripts.’ |
32dr / OR
snbanuniu, Lonege I'L/lﬁ;ﬂ/’

rRalkajl, New Oelhi-19
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Telel 9d [ B Al Sl ot @ fafye ymn w
ety BT |

Throw light on the various types of Brahmi script

developing upto Gupta period.

6. To=fofad ¥ 4 fFf @l W oot fufaw:  (6x3=18)

Write short note on any three of the following :

(i) sm&n fefa
(Brahmi Script)
(i) wer fefa

(Sharda Script)

(i) = fof
- Deshbandnu.College Lirra
(Nagari Script) Kalkafi, New Delhi-1¢ H
(iv) =fra fefd

(Tamil Script)

P.T.O.
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(v) mfew @wad
(Kutil Script)
(vi) =for wwaa

(Kalinga Script)

Deshbandnu, doﬂege\Jbraﬁj
Xalkaji, New Dalhi-18
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A & fag Adw

1

[

T UE-IF B el g Re g fRuifRa s 9T A9

s fafag |

T UT R 7 e & |

T GG 1 QA 7 a9 sl uter W @ SR AfNY | T ®
15 3w ? | _

woT W@ 1 X Ut WET () ¥ (F) 21w A SR
e | '

9 U3 - U9 &1 I JAdet a1 B iR ven str § Qe Afe
T ITA T A TH S BT R |

(a) Identify the type of research study from the
perspective mentioned in the brackets. Justify your

answer .

(i) Developing a sampling technique that can
be applied to a particular situation.
(Application) |

(ii) Studying the impact of technology on
employment. (Objective)

(iii) Describing attitudes of workers towards

management. (Mode of enquiry)
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(iv) Explaining why stressful living results in

heart attacks. (Objective)

(V) Studying the effectiveness of an
immunization programme in controlling

infectious disease. (Objective) (S)

(b) Based on the criteria specified in the brackets,
suggest the most appropriate study design for
conducting research on issues mentioned below.

Justify your answer.

(i) To study the health needs of a community.
(Number of contacts with the study

population)

(ii) To study the effect of an advertisement on-
the sale of a product. (Number of contacts

with the study population)

(1) To study the changes in the incidence of a
disease. (Number of contacts with the

study population)

P.T.O.
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(iv) To study the utilisation of land before the
Sccond World War in Burope. (Reference

period of the study)

(v) To study the employment pattern of a batch
of accountants who graduated from g
university in 1985. (A study design used

in Quantitative research) . (5)

(¢) A questionnaire seeks to find the attitude of
employees towards a new softwafe. It consists of -
five statements, each having five possible

responses.

For a “positive statement’, the corresponding five-

point numerical scale is as follows :

Strongly agree-5, agree-'4,k uncertain-3, disagree 2,

strongly disagree-1

Statements 1, 2 and 4 are ‘positive statements’

whereas 3 and 5 are ‘negative statements’

The responses of two individuals A and B are
mentioned below.
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Statement
No.

e
| Strongly
agl‘(‘e

RERERNEE

‘ Unccnainm

Disagree

. Strongly
| disagree

Tndividual B
v 4|
——tr
R

Calculate the attitudinal scale using Likert scale

and find out which individual has a more positive

attitude towards the new software.

(3)

(d) In each of the following cases, state which

sampling technique is being used :

| (iif)

(1) Out of the chits of 60 students, 15 are

picked up from a bowl for their selection

in the cricket team.

(ii) The ratio of males to females in a locality

is 3:2; the population is divided into males
and females and sample is drawn from each

stratum in the same proportion.

The researcher decides which student is

most likely to give information on the quality
of teaching in the institution.

3

.T.0.
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(iv) The researcher comes across a doctor with
cancer patients and he further helps the

researcher to approach his doctor friends.

(v) After selecting the first element of the
sample, every fifth element 1s a part of the

sample. ' (5)

() What are the stages of data processing in
quantitative studies? Suggest a way to code the

following questions :
(1) Your éurrent age (in completed years)

(ii) Your religion: Hindu/Christian/Muslim/Sikh/
Other |

(ii1) What 1s your opinion about the role of

social media in decision making? (5)

(%) =wrew ¥ Ifcafad afiiea ¥ M s & vER A
A W I AW SR g @

(i) v 0 aoiw el o R fr @
feaft & my fran 1w 31 (wd)

(i) doR W MR & worg w sremo
(S27a)
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(i) vwea & wfa sfe & gfeson & afq e

(ISdIS 1 dqdHT)

(iv) =% sa &Y fF @ qaEet oew e & @R
F FRO IFA Bl (ITH)

(v) Hmes A @ fafa &= § vE S
FHEHH & T AT FeAAT HEAN (I2)

(|) aﬁwﬁﬁﬁzmﬁ%mw,ﬁ%mgﬁ
R MY FA & folY qe@ Iugae reaa— - 61 99
3| A O S afee
(i) wwﬁwaﬁmﬁwm

FH & oo (semms e & wr gt
e )

(i) fd I &t s — fasms & w0
T AT (AT STEIE & W U
ae] )

(i) Rt A 2 aneRar A IRET T IeEa HE
(3remm @I & WY qUS! d Ee)

P.T.O.
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(iv) Q9 ¥ foder fas 7@ & o of & I A
| TG AT (Srma N HI )

(v) 1985 ¥ ww fagafeaed ¥ We{aﬁ
A B e AT D IR A I
ma}ﬁq' (W Wﬂﬁ qaaaw_
s Reg)

M) T T Tw Y W & o waRd
EEI

TF qENh U & o, i gfe- ﬁ@“@'“'a‘ |
T TE YER B

T WA -5, TN GEAT-4, FRAT—3, A
2, FAfUF weEAE -

AT, 2 AR 4 EREE wu ¥ wmir 3 ks

A A ey IR @’ F uffersy =1 Seora
foran o 2, ~
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B NS  amaw
Remw 020 (8 a5 5 T3 (4[5 i
TE&EA
3EEES 1! " 7 .
T @twﬁ%mwﬁawmma}gﬁ
SIPEK:CAn ) gﬁz-cﬁvr B
() ﬁm%ﬁaau@awmﬁﬁmﬁ;mma S

(i) 60 = @t foe A ¥ 15 A fhdbe 1 ¥ ==
% forg v IR | IS W B

(i) ww T A TeNl @ AN ¥ W 3:2 3,
A R 3R AT 3T ¥ URE W/ ¥ A
forar s 21

P.T.O.
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(ii) WA g8 9@ FA B W o e

¥ fareror &) UEA ® IR H FEEN o D EE

»amawamaamél

(iv) deerel @ Per A & a9 T ST B
2 3R ' N TEex A ¥ qUw A A
Merhal & FAee FHT Bl

(v) M & UEd 99 & 999 F D 98, TAE
qeal qed A9 &1 UE fReEn @er 2

(¥) W 3reaas ¥ T YRR & W w4 27 feefatae

S AT G -
(i) sl s o (Tof awt ¥)
(i) smoeT enf: fee /$a /aftem /g / 311

(iii) ﬁﬁqﬁ%ﬁmﬁ%mﬁwﬁwaaﬁﬁ
mrﬂrmé?
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2. (a) Define Research. List the operational steps
involved in the “eight-step model” for carrying out

rescarch.

(b) Discuss any five ethical considerations to be kept

in mind concerning research participants.

(¢) (1) What is stratified random sampling?

(11) Briefly explain the three principles that guide

sampling in research. (5X3#15)

(%) FF9gm ® aRafiE W) SEaE w @ fore
1 i W ¥ whE R ol @

FAT |

() F=AuE AT & q€y q e § @ A A e
T afgw fFeR wogEr &6l

(n) (i) =g e T

P.T.O.
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(ii)a@mﬁmaﬁﬁ%@lﬁmﬁmﬁ;ﬁq
fgral & 989 ¥ e wi]

3. (a) Discuss four functions that literature review

performs in a research study.

(b) Explain the following types of validity in

quantitative research :
(i) Face and Content Validity

- (ii) Predictive and Concurrent Validity

(c) How is research writing different from other types .
of writing? List any four well- established systems

of writing bibliography. \ (5%x3=15)

(%) Fordt My stz & Wieed &ten gm0 fog o @t <R
F@ @ T T
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(H)Wﬁaiﬁwﬁﬁdamaﬁéwﬁm
™
(i) Jea shc e duEr
(ii) nﬁwawﬁaﬁtweﬁ%m

(1) Ry N I TR D T A IO Ry 27 TR
.ﬁﬁﬁaﬁﬁﬁwwﬁawﬁﬁ%ﬁmﬁﬁdﬂn

4. (a) Explain briefly the steps in formulating a research

. problem.
(b) List the major contents of a research proposal?

(c) (i) For the following studies, name the method
of data collection that you would use out of
the methods given in parenthesis, along with |

the justification for the same :

| Research regarding dietary habits of a
tribal population. (Observation method/

Interview method)

P.T.O.
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2. To know the opinion of people about 4
social security scheme. (Structureq

Interview/Unstructured Interview)

3. To find out the levels of educationa]
qualification attained by a community,

(Questionnaire/Interview)

(i1)) Describe two factors that can affect the

inferences drawn from a sample.

(5%3=15)
(&) waﬁum%mmﬁa‘»wﬁaﬁﬁéﬂﬁw
codl

(@) Wsﬁuwﬁs@amﬁw%?qﬁﬁwn

(M) (i) Fe=ffas seaemt & fog, st e <0 9w ffy
I AW qA3¢ SEE 3TN s s ¥ o Tw
TAHR A F BA, WA D I g o 540

1 AR e D IR gEe amedi & =R A
my) (aamﬁfﬁ/mamﬁfﬁ)
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2. Wi wRen Ao & an ¥ o @ @

WA (WREE aenenr / gaefad @i )

3 T W gw e e dwaar @ =W OH
AAT ST (TTEel! /HeTeshi )

(ii) ? FRA w1 ol W A g ¥ e T

IR A ANl X dEd 2

h

(a) (1) How is'hypothesis of no-difference different
from hypothesis of difference? Give one

- example of each type to support your answer.

(ii) What are double-blind studies?

(b) What is a research design? Discuss the two main

functions of a research design.

(c) ‘Graphical representation often makes it easier
to see the pertinent features of a set of data’.
Briefly explain any five types of graphical

representation. (5%3=15)"

P10,
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(%) (i) e @ e A aitswer T FR A oo 3
DY = B? U I D T A UNE TR

& e AR

(ii) <o -=Ee wEW @ 27

(@) T Wy o @ 7 WY ARY A W@ FE A
T HINgl | |

(1) ‘Rewa wRER SR SRS F TF WE B ARG
ﬁﬂwaﬁﬁ%mmm%’;ﬁ%ﬁhm
2 o freT w Ry ¥ e

6. (a) Explain how do reactive effect, maturation effect
and regression effect work as disadvantages of

the before-and-after study design?

(b) (i) Illustrate the difference between an
extraneous variable and an intervening

variable with an example.
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(ii) Discuss the four types of measurement scales

used in research.

(¢) Briefly explain the two types of observation
method of data collection. What are the problems

with using observation as a method of data

collection? . _ (5%3=15)

() W%uﬁ%mﬁamqﬁqﬁmmaﬁim
TS TR IR AT & AT RlgT & JHEH @ €7
d FE FE FA B?

(@) (i) T IO & Y UFH qEA W AR TF Fegaat
W F 9F FIR D WL W

(iI) mmﬁugmwm%wﬁwﬁﬁw
Fifso| |

(W) S FUE & A YER ® e RE o) wadg ¥
ARA | FIAFA TG A T w27

P.T.O.
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7. (a)
(b)
(¢)

18

(1) What 1s the difference between an active

variable and an attribute variable?

(i1) Categorize each of the following as a concept

or a variable :

Satisfaction

[u—y

dender

9

3. Self-esteem
4. Attitude

Income

N

“Research is a process for collecting. analyzing
and interpreting information to answer research
questions. But to qualify to be called rescarch,
the process must have certain characteristic

Briefly explain any five of these characteristics

of research.

(1)-Give three ways for making an effective

questionnaire.
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(ii) Outline the differences in writing a report in

quantitative and qualitative research.

(5x3=15)

(F) (i) v afha = 3k va fFwa W & f=F T AW
27

(i) Frafofas ¥ & wee @ smamor @ | S T A
- Fifga W |

2. feiw

3."STIFTW

4. IRl

5 34

(@) “sue Ay A R I A B B T
F, famwnr F IR e w0 N T w2
A s FET B A A R e, s
o FRET B TR R T R ¥ 3

- feedl W S wew H quren Fihw

P.T.O.
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() (i) TR wEER Y B G a0 aeE

(ii)wsﬂtmmﬁuﬂﬁwﬁ%mﬁﬁ
FR F [@feha )
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W7 3R SEigal @ W ddY W YeRTal Sy |

3, HTNT aﬁ( 'd‘-l!f hl S{HﬁHU e el azllﬁlQ | (]5)
JH=AdT

qIors JRAar w1 27 98 oK ¥ fohg YR geftg 27

IS GAUT & w@ET SR gy @ fager #ikmw o (1s)
3rerar

T 9l &l TS HNd §Y IAST [FIAu0T HIfST |

5. me@dﬁ%ﬁmﬁ%QT%mﬁéﬁwz (8,7)
(%) +ToT AqER

(@) s s el

() 9T & FAT SR

(7) swor 3 S
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Name of the Paper
Name of the Course
Semester Annual

Duration : 3 Hours

Instructions for Candidates

@ Your Roll NO—Z'QZ'Z'

12313405

SEC- Indian Art and Architecture

BA History Honours

Maximum Marks : 75

to

(U9)

Write vour Roll No. on the top immediately on receipt of this question paper.

Attempt any four questions.

All guestions carry equal marks.
Answers mayv be written in English or Hindi but the same medium should be followed

throughout the paper.

= & fau Hew

=7 U -T3 % ey A 3w 20 v fuiRa e AT s foifaw |

=i wIR 73 & I vl

= T # T it W B9 e v ww ¥ Ay dfew ot S e wemw v 9
2T =R

Q.1 Outline the important shifts in the historiography of Indian art and architecture.

YR Fem 3R WUy ¥ TREra-oE H Heayy! sl o SOl TRgd X



Q.2 Examine various features of Gandhara and Mathura school of sculpture.

fefererT 3 arien s wreRy wpa i At fareaat 1 gy w3

Q.3 Highlight important features of Nagar or Dravida style of temple architecture with one
example.

uﬁtmﬁwmﬁ@ﬁﬁmﬁiwﬁﬁwww%m
Fro

Q. 4. Trace the evolution and development of Mughal architecture with reference to Humayun’s
tomb or Jama Masjid

m%nﬁ%maﬁwm%ﬁ?ﬁﬁwm%maﬁtﬁ%mmwm|

Q.5 How did the imperial ideologies influenced making of the New Delhi?
qraTsgaTer eyt 7% el ¥ fwtor v R s s R 2

Q.6 Discuss the evolution and development of Mughal painting.

e AT & S5 3 fara &Y ==t fifdr

Q.7 Examine the development of painting during colonial period.

Arafaters w1 F S R & R w1 o fifvm

Q. 8 Write short notes on any two of the following
a) Chola bronze

b) Nizamudin Auliya dargah

¢) Amrita Sher-Gil

d) Maithili Painting

Frafofae § 9 B @ w @Rm frofat R
a) I FiEq

b) Femds shfRran gzme

¢) AT fA=

d) Hferefy A
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Instructions for Candidates

Write your Roll No. on the top immediately on receipt
of this question paper.
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Unless otherwise required in a question answers should
be written either in Sanskrit or in Hindi or in English,
but the same medium should be used throughout
the paper. Visually impaired students may attempt
the question no. 3-4°A’ in lieu of question no. 3 and
4.

bR - g faen @ e for g e e s
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> RE DI ERIGRRED - Bl e, g A bl 3efd “"rA{’.'f'C[ A1 f?f:rr:l 9
i@ A v w A Al Alehet 4T Il it ey ey, #

a7 Ry 1 et S HA A U TR Y9 A 1

e v e 3 -4 ‘A @1 IR ford |

AR - A/ Part-A

:chvi?ifﬁmmﬂiﬁéa@ﬁﬁaﬁmaﬁmgﬁ
e = a9 IR (1)

Describe the origin and development of Brahmi Script

from Maurya period to Gupta period with example.
Far/ OR
Describe the theories of Indian origin of the Brahm!
Script.
et 4 4 f@=l @9 w oo faRag - (6><3:18)
Write short note on any three of the following 3

S WER, Aol R, wer, s, o BRI
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W -& / Part—-B

5 fpEfalaa A A AW ues ay A daqr A o
(9)

Give transliteration of any one of the following into
Devanagart.

o
=
|

"”“*Lf["‘d SClJbL U‘A(F;rwu oL

) A ,_1‘. L W

ga;wﬁdj;@_ﬁ,

R e Ot N T 51 .
S T T A, & e § YN 0 s OARE pat fn o t
s - o s T e s 1 v oFaae

r

——— M-NM e
- S et

LG il e

HAAaTr/ OR

3.4, To= o g @ o # fofaw | (4)
Write any five of the following letters in Brahmi.

A, 9,9, 4, F @, W, T A T

4-n, T8 auill @ e aEn ff e (s)
Write any four of the following alphabets in Brahmi

script of the time of gupta period.

-qr qr ar _?3; T’Tz E'Tr [<¥ :{,U,‘dl

P.T.O.
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4

ART—-Y/ Part-C

5. WWW%WWWWWI(B)

Describe the various types of Ancient Indian SCripts.

Jrrdar/ OR

T ot = Aty vt W e st |

Throw light on the various types of Brahmi script.

e & @ formsl o w ool folRaw . (6x3=18)

Write short note on any three of the following:

(i) afie ff
(ii) e foif
(iii) T awa

(iv) =wRer fefy

(Tamil Script)
(Bangla Script)
(Kaling Script)
(Sharda Script)
(Kutil Script)

(Nagari Script)
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